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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459272821
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 54592747471 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A series is given with one term missing. Select the correct
alternative from the given ones that will complete the series.

LG, NE, PC,RA ,?

Options:

1. » TX
2. % UZ
3.vTY
4, = UY

Question Number : 1 Question Id : 54592747471 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk eTshA o I g, SHA @ vk ug e g fov e
fasredl A & a8 Wl fdhed IV, ST 3ThA T G

LG, NE, PC, RA , 7

Options:

1. = TX
2. » UZ
3. v TY
4. = UY



Question Number : 2 Question Id : 54592747472 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A series is given with one term missing. Select the correct
alternative from the given ones that will complete the series.

LR12, 0015, RL21, 7?7, XF42

Options:

1. v UI30
2. » VH30
3. = UI31
4. » VH31

Question Number : 2 Question Id : 54592747472 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

sk 3fefshA feam I g, oA @ vk ug ofed g1 feu A
faredl & & g8 @ET [Ahed IV, ST 30THA FT W R

LR12, OO15, RL21 |, ? , XF42

Options:

1. v UI30
2. = VH30
3. = UI3T
4. = VH31

Question Number : 3 Question Id : 54592747473 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A series is given with one term missing. Select the correct
alternative from the given ones that will complete the series.

R7K, N8R, J15Y, 7?7, B38M



Options:

1. = F23G
2. % F22F
3. = F22G
4. v F23F

Question Number : 3 Question Id : 54592747473 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk 3efshA o 9T &, SHA & Uk 9T oed g fov e
fasredl & & g8 @ET fashed IMAT, ST 36THA HT T

R/K, N8R, J15Y , 7 , B38M

Options:

1. = F23G
2. » F22F
3. = F22G
4. v F23F

Question Number : 4 Question Id : 54592747474 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the odd word from the given
alternatives.

Options:

1. = Steering
2. % Seats

3. = Tyre
4. v Truck

Question Number : 4 Question Id : 54592747474 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



%ﬁﬁﬁﬂﬁwaﬁﬁr@mﬁwﬁﬁﬁﬁwemaﬁgﬁm

Options:

1. = TERIRET
2. % =l
3. = Tigam
4. v TH

Question Number : 5 Question Id : 54592747475 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the odd letter/letters from the
given alternatives.

Options:

1. = DHKP
2. v GKMS
3. = TXAF

4. » KORW

Question Number : 5 Question Id : 54592747475 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFIlella weeT # U 310 [Wreul & O TAYH 31&TL/378TT T
S

1. = DHKP
2. v GKMS
3. = TXAF
4. = KORW

Question Number : 6 Question Id : 54592747476 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT Ed UesT H BT 97 [&ereul & O TOYH 37&7T/3787T T
ToTT |

1. = BDHP
2. = KMQY
3. v ACHO
4. = |[KOW

Question Number : 6 Question Id : 54592747476 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the odd letter/letters from the
given alternatives.

Options:

1. = BDHP
2. » KMQY
3. v ACHO
4, « JKOW

Question Number : 7 Question I d : 54592747477 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related words from the
given alternatives.

Paper : Wood :: Cloth : ?

Options:

1. = Mill

2. » Wash
3. v Cotton
4. » White



Question Number : 7 Question Id : 54592747477 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafafad ma A e aiv fasvedt # @ Gafdd ersal S g

HIETST ; olharl :; hUaT : ?
Options:

1. = foer
2. = el
3. v HUH
4. % Ghg

Question Number : 8 Question Id : 54592747478 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related word pair from
the given alternatives.

Spade : Dig 1 ?
Options:

1. v Tongs : Hold

2. % Pen : Rub

3. » Binocular : Shoot
4. = Feed : Spoon

Question Number : 8 Question Id : 54592747478 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafai@d wead & RV 910 fahedl & & HETOd osg oA H
Elai?IQI

W:E’IE\?IT::?

Options:



v TIHACT : ThgaT
x hold : THCTAT

%w“m : HILAT

ol
#®

® dldl | deHT

Question Number : 9 Question Id : 54592747479 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related word pair from
the given alternatives.

700 : Animals :: ?

Options:

1. = Hospital : Treatment
2. = Medicine : Dispensary
3. v Garage : Car

4. = Aplary : Birds

Question Number : 9 Question Id : 54592747479 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAraTal@a vesT A o0 a0 fghedl A & FAT oee I37 A
Elai?lQI

RfEamET © JeaT o ?
Options:

1. = 3EIdlel @ 39N
2. = A5 : 3Ty
3. v NS : IMET

4. = AYATERTT : TalT




Question Number : 10 Question Id : 54592747480 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, ‘MUMBATL is written as ‘383421,
‘GOA’ Is written as “762’. What is the code for ‘BOMUTI in that
code language?

Options:

1. » 68341
2. % 26871
3. % 43612
4. v 46381

Question Number : 10 Question Id : 54592747480 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tk Tafese g 9T &, ‘MUMBALI® T 383421° TolEr Tar &,
‘GOA’ =T ‘762’ Tor@r SATdT & s HIg HTNT # ‘BOMUI <hT
IS FIT &7

Options:

1. = 68341
2. % 26871
3. = 43612
4. v 46381

Question Number : 11 Question Id : 54592747481 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, ‘ROAD’ is called ‘BOOK’, ‘BOOK’ is
called ‘TABLE’, ‘TABLE’ is called ‘SKY’, ‘SKY’ is called ‘LAND’,
‘LANIDY is called ‘TYRE’. Where do birds fly?

Options:

1. v Land
2. = Table



3. » Book
4. = Tyre

Question Number : 11 Question Id : 54592747481 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U faferse g AT A, TSR N GEAF Kl AT §, TEAR
I ‘AT @l ATl §, HS I 3RIRT Fal ST &, JHher &l
A T ST g, A T TR FHET ST &1 9ET Far 354

g7

Options:

1. v ofH
parc)

®

-2

2.
3. » TEJHh
4. % TAT

Question Number : 12 Question Id : 54592747482 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, ‘FILE’ is called ‘RED’, ‘RED’ is
called YELLOW’, YELLOW’ is called ‘WOOD’, WOOD’ is
called ‘BIKE’, ‘BIKE’ is called “WHEEL’. Table is made up of
what?

Options:

1. = Wood

2. v Bike

3. = Wheel
4. = Yellow

Question Number : 12 Question Id : 54592747482 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Teh TAfRISe HIg HINT H, ‘BSel’ &I ‘ATel’ Fal oIdl &, el &l
‘UToIT hal oITdT &, ‘UTeT ohl ‘olehal’ hal SATldT &, ‘oThsl’ ahl
Tk gl STdT &, ‘Toeh hI ‘OiEAT Far JaT &1 AT o~
drer T a&ll g5 @il &7

Options:

1. = olhal

2. v dTEH
3. = wigam
4. = YrolT

Question Number : 13 Question Id : 54592747483 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Five boys B1, B2, B3, B4 and B5 are compared on basis of their
height. B4 is taller than B5. B4 is shorter than B2. B3 is shorter
than B1. B3 is taller than B2. Who is the shortest among them?

Options:

1. v B5
2. % B4
3. = B2
4. % B3

Question Number : 13 Question Id : 54592747483 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U oSkl B1, B2, B3, B4 Tur B5 & SEEl 3alchl >dTs
MY W T ST &1 B4, B5 & =T §1 B4, B2 ¥ BT &I
B3, B1 & ®ler &1 B3, B2 & &&T &l 38 & a8 BICT o g7

Options:

1. v B5
2. » B4




3. = B2
4. = B3

Question Number : 14 Question Id : 54592747484 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

5 stones P1, P2, P3, P4 and P5 are weighed. Weight of P1 is
double of P2. Weight of P2 is 5 times of P3. Weight of P3 is one
third of P4. Weight of P4 is 9 times of P5. Which of the
following relation is correct about their weights?

Options:

1.« P2 =3 P3
2.vP2=15P5
3.= P4=3P5
4. = P1=06P5

Question Number : 14 Question Id : 54592747484 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

5 geaX P1, P2, P3, P4 dar P5 &T golel TohaT ST &1 P1 &7
golel P2 & 2N[aT &1 P2 T gofel P3 &7 5 e &1 P3 &
qofel P4 7 U g5 §1 P4 7 eif P5 &T 9 3T &1 3eTh
gotel o Tesl H Tarafelf@d # & i 67 §ay Far g7

Options:

1. = P2 =3 P3
2. v P2=15P5
3. » P4 =3 P5
4. = P1 =6 P5

Question Number : 15 Question Id : 54592747485 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Seven cars C1, C2, C3, C4, C5, C6 and C7 have different
maximum speeds. C7 has more speed than C1. C1 has more
speed than C2. If C3 has the highest maximum speed among
them, then C5 has the lowest maximum speed among them. If
(4 has the highest maximum speed among them, then C2 or
C6 will have the lowest maximum speed among them. If the
maximum speed of C4 is the second highest, then which of the
following statement is correct?

Options:

1. = C7 has more speed than €6
2. » {6 has more speed than C1
3. v C5 has less speed than €6

4. = 7 has more speed than C3

Question Number : 15 Question Id : 54592747485 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g & C1, C2, C3, C4, C5, C6 gar C7 hT 3Teler-37e190
3ifeRas a1far &1 C7 T arfer C1 & 3719k g1 C1 hr a1fa C2
g e &1 I 3987 § C3 Fr 3HThdA ad gad 396 g,
dr 3aTH @ C5 &1 HTUhdH T a8 FH gl I 308 F C4
T FTFIH T Tad A’ §, df 3a8 & C2 a1 C6 Fr
Jfehedd 1T G F gREITI IfE C4 T TR aH i gEdT
gaa e g, o [Aeafelildd & & il IT F2ed gl &7

Options:

1.« C7 &7 aifd C6 | 3Tk &
2. % C6 =T aifd C1 & 3ffdF §
3. v C5 hrarfqd C6 & A &

4. % C7 7 aifd C3 & 3ffdF §




Question Number : 16 Question Id : 54592747486 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Height of six teachers L, M, N, O, P and T are compared.
Height of L. is more than O but less than T. Height of N is less
than O but more than P. Which of the following statement is
not correct?

Options:

1. = Height of L. is more than P

2. v Height of T is less than M

3. = Height of N is less than O

4. = Height of O is more than N but less than L

Question Number : 16 Question Id : 54592747486 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g Rl L, M, N, O, P @1 T hr 315 T Jefell shr a7 €1
LA A5 OFIAF ERGTARFAGI NI IS5 O A
A & Wg P @ 3O« & eafofaa & @ Sl a1 e @ar
Tl 87

1p.w L Fr a5 P & 310k ¢

2. v THRI>as M 8 &H &

B.x NHRIT 38 O @ &H &

4+ O STEN @ 0w § R L & 57 &

Question Number : 17 Question Id : 54592747487 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Marks of eight boys E, F, G, H, I, ], K and L are compared.
Marks of only three boys are more than E and ] both. Marks
of K 1s more than the marks of only L. Marks of F are more
than G. Marks of H are less than the marks of J. Which of the
following is the correct sequence of their marks?

Options:

l.xF>G>I>]J=E>K>H>L
2.x1>F>G>]J=E>H>L>K
3.vF>I>G>E=]J>H>K>L
4 «F>G>I=E=]J>K>L>H

Question Number : 17 Question Id : 54592747487 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MS a8 E, F, G, H, |, J,KHﬂTLa?aiﬁfrEﬁ‘r@ﬂ?lTﬁ
IR &1 el T TSR & 37 E JuT J @t & 31f8F &1 K
oh 3k Shael L o 3Rl & AR &1 F o 316 G & &+ &1 H
F 3 J F IR O FH & raei@a & & Siad Gr 3o 37T
T Hel hH &7

Options:

.= F>G=>|>J=E>K=>H=>1L
2. |l>F>G>J=E>H=>L=>K
3. vFEF>1l>G>E=Jd>H>K>L
4, = F >G> |=E=J>K=>L >H

Question Number : 18 Question Id : 54592747488 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question below are given some statements
followed by some conclusions based on those statements.
Taking the given statements to be true even if they seem to be
at variance from commonly known facts. Read all the
conclusions and then decide which of the given conclusion
logically follows the given statements.

Statements:
I. Some grey are old.
II. All old are tree.

Conclusions:

I. Some grey are tree.
II. Some tree are grey.
III. Some tree are old.

Options:

1. = Both conclusion I and II follows
2. = Both conclusion II and III follows
3. v All conclusion follows

4. = Neither conclusion follows

Question Number : 18 Question Id : 54592747488 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Eﬁﬁﬁ;@?r@q‘i’?rﬁ?aqmd 3T 3% T 3T FUAT W

TR Fo sk fqU a0 §| A0 70 FY=l HT Al A, T8
38 TTHET AT J28 8 eerar gh T @ty 06 v i
iR fY ToF U 910 Fier & ooy, 60 a0 Farar & 3maR
T rFaaed gl

T
. 5 9, g &l
I. TefT gee, 93 B

IGECAF

. ¥ &, 95 8

I ¥5 93, F T
Il. $ 98, gea E

Options:

1. = gl TSRy | JT || 3eEor HId &
2. = et fasehy || T Il SeEoT :d §
3. v Fofr folverd 37efeor i &

4. » S o fIshd 3TEI0T FTEN HLAT B

Question Number : 19 Question Id : 54592747489 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




In the following question below are given some statements
followed by some conclusions based on those statements.
Taking the given statements to be true even if they seem to be
at variance from commonly known facts. Read all the
conclusions and then decide which of the given conclusion
logically follows the given statements.

Statements:
. NoPIisQ.
I1. All Q are B.

Conclusions:

I. Some P are B.

II. Some B are P.

III. Some B are not P.

Options:

1. ¥ Only conclusion III follows

2. = Only conclusion I follows

3. = Both conclusion I and II follows
4. = Both conclusion II and III follows

Question Number : 19 Question Id : 54592747489 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Eﬁﬁﬁ;@?r@q‘i’?rﬁ?aqmd AT Ik FI€ 37 FUAT W
TR Fo sk fqU a0 §| A0 70 FY=l HT Al A, T8
38 TTHET AT J28 8 eerar gh T @ty 06 v i
iR fY ToF U 910 Fier & ooy, 60 a0 Farar & 3maR
T rFaaed gl

e
. ®% P, Q «i&r gl
Il g1 Q, B &1
IGLE B

. ¥ P, B &
II.?I;@B,P%:I
III.;WB,P?I%SF%I

1. v hgel [ashy |l 3TEOT AT &
2. » Fael forshy | TETOT FIAT §
3. = 2l fasshy | 9T || 37efaor I &
4. » 2l forvRd || Far (Il SERoT FI 8

Question Number : 20 Question Id : 54592747490 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

In the following question, select the missing number from the
given series.

15, 29, 56, 109, 214, ?

Options:



1. = 201
2. » 359
3. =104
4, v 423

Question Number : 20 Question Id : 54592747490 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foasTTafe weat & & a8 g=elr & & ofcd 37k A Fifei0)

15, 29, 56, 109, 214, ?

Options:

1. = 201
2. = 359
3. = 104
4. v 423

Mental Ability2
Group Number : 2
Group Id: 5459272352
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Mental Ability?2
Section Id : 5459272352
Section Number : 1

Section type: Online



Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459272822
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54592747491 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the missing number from the
given series.

11, 34, 104, 315, 949, ?
Options:

1. = 990

2. v 2852
3. = 1001
4. % 1332

Question Number : 21 Question Id : 54592747491 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafafad wea & &1 a8 J@er A @ ofcd 3F AT RS0

11, 34, 104, 315, 949, 7

Options:

1. = 990
2. v 2852
3. = 1001
4. = 1332

Question Number : 22 Question Id : 54592747492 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A series is given with one term wrong. Select that wrong term
from the given alternatives.

4,7,11, 16, 23, 29, 37

Options:

1. = 16
2.v 23
3. 11
4, % 29

Question Number : 22 Question Id : 54592747492 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk 3ToRA T I &, WA & vk ug e d g fev At
fashedl A & 39 IeId UE FHT A0

4, 7, 11, 16, 23, 29, 37

Options:

1. = 16
2. v 23
3. = 11
4. = 29

Question Number : 23 Question Id : 54592747493 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A series is given with one term wrong. Select that wrong term
from the given alternatives.

138, 135, 131, 128, 125, 121, 117

Options:

1.+ 125



2. %121
3. = 128
4. %131

Question Number : 23 Question Id : 54592747493 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk 3efshA o 9T &, TSEA & Uk Ug deld 1 v I
fasredl # & 39 el Ug H glav|

138, 135, 131, 128, 125, 121, 117

Options:

1. v 125
2. = 121
3. = 128
4. = 131

Question Number : 24 Question Id : 54592747494 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the number which can be
placed at the sign of question mark (?) from the given
alternatives.

2 35 5 7
4 51 2 86 3 ?

Options:

1. = 47
2. % 49
3.+ 50
4. % 57



Question Number : 24 Question Id : 54592747494 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafelTd Teed & €T a0 [ahedt & & weed RIeg (?) &
TTel T 3Tl dTell HEAT 1 AT

2 3 5 T
4 | 2 36 3 ?
Options:
1. = 47
2. = 49
3. v 50

4. = 57

Question Number : 25 Question Id : 54592747495 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

By Interchanging which two signs the equation will be
correct?

T+4x6+2-1=18

Options:

1. = + and x
2.% xand +
3.vrtand+
4. = +and -

Question Number : 25 Question Id : 54592747495 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



foreT oY REall & 39T # WEIR ol T TARIOT TEr &l

2. % X JAT +
3. v + ddr +
4, = + Jd9dr -

Question Number : 26 Question Id : 54592747496 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

After interchanging the given two signs, what will be the
value of the given equation?

x and +

16 +15+-3-12%x6+1
Options:

1. = 64
2. % 82
3.+ 60
4. % 62

Question Number : 26 Question Id : 54592747496 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



o arv 3y et o 39g # WEW deda W, F av

HHTRIOT hT AT AT g7

X AT +

16 +15 +3-12%x6 + 1

Options:

1. = 64
2. = 82
3. v 60
4. = 62

Question Number : 27 Question Id : 54592747497 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

By interchanging the given two signs which of the following
equation will not be correct?

+ and +

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1.5+3x2+2-06=2
2.31x36+9-7+1=211
3.374-9+7x14=11
4.17x4+6+2-3=068

Question Number : 27 Question Id : 54592747497 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



feu a7 ar REaT &1 399 § WER gl W faraforiaad &
O hieT T TATRIOT Hal dAal a1am?

+ d2T +

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1.5 +3x2+2-6=2

2.31 x36+9-7+1=211
3.3 +4-9+ 7 x14 =11
4. 17 x4 + 6 + 2 -3 =68

Question Number : 28 Question Id : 54592747498 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

[f15@12#13=193and11#16 @ 17 = 283,then 14 @ 15 #
19 =7

Options:

1. = 219
2.v 229
3.= 231
4. % 197

Question Number : 28 Question Id : 54592747498 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I 15 @ 12#13 =193 @2 11 # 16 @ 17 = 283 &, ar
14 @ 15 # 19 = ?

Options:



1. = 219
2. v 229
3. = 231
4. = 197

Question Number : 29 Question Id : 54592747499 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If 327 = 32 and 926 = 98, then 764 = ?

Options:

1.~ 158
2. % 172
3.+ 144
4. = 188

Question Number : 29 Question Id : 54592747499 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gfg 327 = 32 gur 926 = 98 &, ar 764 = ?

Options:

1. v 158
2. = 172
3. % 144
4. = 188

Question Number : 30 Question Id : 54592747500 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the diagram that best represents the relationship
among the given classes.

Dustbin, Pen, Cartoon

Options:



Question Number : 30 Question Id : 54592747500 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

9% MW Ffav S A Rw aw qail & = & qo w1 HE
fasaor FLar &1

e, ¥, e

Options:




(0o

Question Number : 31 Question Id : 54592747501 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the diagram that best represents the relationship
among the given classes.

Fruits, Apple, Red

Options:

. [©
@

@D

(0o

Question Number : 31 Question Id : 54592747501 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



98 3@ Ifv St o v 9w qeit & f F dey w5 o
IGERECE Y

Fel, O, olel

Options:

L
@

©D

@o

Question Number : 32 Question Id : 54592747502 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

] is to the south of K. K is to the west of Z. ] is to the East of Y.
Y is to the North of R. In which direction is R from K?

Options:

1. = South

2. *= East

3. v South West
4. = South East



Question Number : 32 Question Id : 54592747502 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

JKFEEIT A K ZHaRaa # &1 J, Y & q@ #H &Y,
R & 3ca¥ & &1 R, K & g f=m & &7

Options:

1. = Zf&ror

2. = 9§

3. v 8T ueaH
4. = TIEOT 4

Question Number : 33 Question Id : 54592747503 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Vinay starts walking from his stop. He walks 10 km towards
West. He turns left and walks 12 km to reach hospital K. He
again turns left and walks 16 km. In which direction is he
now from the starting point?

Options:

1. = South West
2. v South East
3. = North West
4. = North East

Question Number : 33 Question Id : 54592747503 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e 3T9elT gahtel & Tolell 3R HIAT &1 T& TRTH HT 3N
10 FoR.#AT. Tordm &1 @8 S0 HST § 27 12 foh.alr. wereht
ATEIATA Kqéﬁ ST &1 9 Yol ST 3T FsT & 41 16 .
AT, Torel &1 a8 3RTAF fog @ 31 Torey feem o &7

Options:

1. = ZI&OT UTeTH




Question Number : 34 Question Id : 54592747504 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the figure which can be
placed at the sign of question mark (?) from the given
alternatives.

\'4 VA ? VAVA | (VAVAV

Options:

VVA

VAV

VAAA

VAV

Question Number : 34 Question Id : 54592747504 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ff@aa wead # Rw v [eredt & & wosd ”eg () &+
TTel OT 3Tl dTell 3TRTd T AT

o| [® 5]
v VA ? VAVA | (VAVAV
[ ]
Options:
VVA
1. = I8
VAV
2. % |
VAAA
3. = (&
VAV
4. v 18

Question Number : 35 Question Id : 54592747505 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the wrong figure from the
given series.

I ) T

Options:




L
L L

Question Number : 35 Question Id : 54592747505 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafelf@d aeat A, &1 =0T Yz A & Tod FiA T AT

I ) T L

Options:




Jl|

Question Number : 36 Question Id : 54592747506 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the odd figure from the given
alternatives.

E
2. % M/é]
3. % I%%I
[®

Question Number : 36 Question Id : 54592747506 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafafad mea A, v 710 fawedl & @ fAvA 3THfa H I

Options:



2.%%@
3.s;¢l:l>;‘%I
4&*‘%

Question Number : 37 Question Id : 54592747507 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Three positions of a dice are given below.

What symbols can come on faces marked (I) and (II)?

3
Options:
1. = & and %
2. v #and %

3.« @and #



4.« @and $

Question Number : 37 Question Id : 54592747507 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Al Tk OIA Rl diel 3(GTATC & T &
S & &
(1) 2T (1) 37hTT Feler W FIT TEd 3T Thad &7

<>

1. = & dAT %

2. v # daT %
3. » @ T #
4, = @ dar $

Question Number : 38 Question Id : 54592747508 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A cube with edges of 15 ¢cm is cut into small cubes with edges
of 3 cm. What is the number of small cubes obtained?

Options:

1. = 120
2.v 125
3. = 216
4. % 64

Question Number : 38 Question Id : 54592747508 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Tk 15 WAL T drel " F 3 QAL ST Tl BIC Tl A
FTeT IRT &1 THoIa arel B Oall hl T&AT FAT &7

Options:

1. = 120
2. v 125
3. = 216
4. = 64

Question Number : 39 Question Id : 54592747509 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

A cube has 20 cm edge. It is cut into small cubes with edges of
4 ¢cm. How many total cuts are required and how many small
cubes are obtained?

Options:

1. = 12, 216
2. % 15,125
3.v 12,125
4. % 15, 216

Question Number : 39 Question Id : 54592747509 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk Ol I ol 20 VAL &1 36 4 AL T dTel B Tl A
TET IAT &1 Fel Fohdal Fe 3MATF § TAT fhdal DI =
el

Options:

1. = 12, 216
2. = 15, 125
3. v 12, 125



4. = 15, 216

Question Number : 40 Question Id : 54592747510 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If a mirror is placed on the line AB, then which of the answer
figures is the right image of the given figure?

I =
2. % lNl

|—
—
—
—]

]

Question Number : 40 Question Id : 54592747510 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



e Th ZU0T T AB YT W T@T ST, AT &F 95 e M icaar
H & Fisl &7 3T T2 3Tl T TET AicITss gi?

General Awarenessi

Group Number : 3

Group Id: 5459272353
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0

Group Marks: 20
IsthisGroup for Examiner?: No

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0



Minimum Instruction Time: 0

General Awareness1

Section Id : 5459272353

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459272823
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54592747511 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following festivals belongs to the Parsi
community?

Options:

1. v Navroz

2. = Pongal

3. * Onam

4. » Christmas

Question Number : 41 Question Id : 54592747511 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

URET THET TR feiFafel@d A 8 Fleadr g’ IEr TATST
F IR & T H JATAT ST &7

Options:

1. v daleT
2. = Tlarel
3. = 3UTH
4, = foragmg




Question Number : 42 Question Id : 54592747512 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

dance form is associated with Kerala.

Options:

1. = Saila

2. % Jawara

3. v Kathakali
4. = Dhamyal

Question Number : 42 Question Id : 54592747512 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e el hlel & FEfad &

1p.w’-1?»n
2. = SIdNT
3. v FUkoll
4. = JHATS

Question Number : 43 Question Id : 54592747513 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

dance is also known as ‘Vatrakali’.

Options:

1. = Kathakali
2. = Mudiyettu
3. v Sangha Kali
4. = Dappu Kali

Question Number : 43 Question Id : 54592747513 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

¢ I ‘TAhel’ & TH § #HT ST Sar &

Options:




% ol
x HAisdg

e )

h [
v ddl enell

ol

oy
% ZCY el

Question Number : 44 Question Id : 54592747514 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT a harvest festival?

I. Pongal

I1. Bihu

III. Onam

IV. Durga Puja

Options:

1. = Only I

2. = Only II
3.vOnly IV

4. = Both II and III

Question Number : 44 Question Id : 54592747514 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fedle@a A & Fid T A8 BHd Fels FT ABE Aol &7

. OiaTel

1. %ﬁ

1. 3ftoTa
V. g gei

Options:

1. = ohdol |



2. = ohael |
3. v Shad IV
4. = || T |l v

Question Number : 45 Question Id : 54592747515 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The fixed interest rate at which RBI provides overnight
liquidity to banks against collateral of government securities
is known as

Options:

1. » Reverse Repo Rate

2. v Repo Rate

3. = Bank Rate

4. = Statutory Liquidity Ratio

Question Number : 45 Question Id : 54592747515 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR Nt dh q@iT hRT aiasfaar & garfedsh & forw
SRl T Tk TCadIT Aoy WSTel shiel aTell Tl sITol &
ca) & dATH & SATAT SATdT &

Options:

1. » REd IO T

2. v O &

3. d I

4. » gifafae Ferfefer serard

Question Number : 46 Question Id : 54592747516 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Who is the chairman of Cabinet Committee on Economic
Affairs?

Options:




1. = President

2. » Home Minister
3. = Finance Minister
4. v Prime Minister

Question Number : 46 Question Id : 54592747516 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MR FT Gadr AFAsS AT (Fiede FHET 3T SHhaldb
FhIH) T TETE hiod BT &7

Options:

1. = {rsgdfd
2. = G FAT
3. = Tdcd #HAT
4. v TITTHAT

Question Number : 47 Question Id : 54592747517 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following factors is not taken into consideration
while calculation of Minimum Support Price by Commission
for Agricultural Costs and Prices?

Options:

1. = Inter-Crop Price Parity
2. * Demand and Supply

3. = Cost of Production

4. v Foreign Exchange Rate

Question Number : 47 Question Id : 54592747517 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T ST 3 HIAT 3R—ET G@RT 7o H AN Hed T
IMTAT Rl AT TaFadfolidd H 8 T e 9T €Tl ol
feam Sar g7

Options:

1. % 3AT-BE Hed A
2. = AT 3T 3L

3. ® 3cUlce olldTd

4. v Tace Hal X

Question Number : 48 Question Id : 54592747518 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

To know the nature of a solution,a particular substance is
used which 1s known as

Options:

1. = Acid solution
2. » Basic — solution
3. = Salt

4. v Indicator

Question Number : 48 Question Id : 54592747518 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foreir faeraet T Wbl 1 Siafel & o, A9y gared 1 392
foraT ST § o F FT H FTaAT ST &I

Options:

1. = &l Qerde
2. = T Teae
3. % oIgul

4.%@



Question Number : 49 Question Id : 54592747519 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sublimation is a process in which

Options:

1. = solid initially converts into liquid and then into vapour
2. v solid directly converts into gas

3. = gas directly converts into liquid

4. = solid converts into liquid

Question Number : 49 Question Id : 54592747519 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FEdUTdd Teh Ufshar & TorE#H |

Options:

1. = 39 Ugel §d H 3 M arsu & gRafda &dar &
> . 3 EY A # aREfia o

3. » g @Y @@ & ofafda g &

4. » 39, g # gRafdd adar &

Question Number : 50 Question Id : 54592747520 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the power of a concave lens with focal length 5 metre?

Options:

1. = +0.5D
2. % —0.5D
3. = +0.2D
4, v -0.2D

Question Number : 50 Question Id : 54592747520 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

5 AT Wiehd il aTel fehdT 37acTel ofF =T &THAT FIT BIE?

Options:

1. = +0.5D



2. = 0.5D
3. = +0.2D
4. v -0.2D

Question Number : 51 Question Id : 54592747521 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the most ductile metal?

Options:

1. » Mercury
2. » Platinum
3. = Lead
4. v Gold

Question Number : 51 Question Id : 54592747521 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

%ﬁﬁ@ﬁﬁﬁﬁﬁﬁﬁﬁ@ﬂﬁﬁﬁ*ﬂulddﬁf%ﬂq%‘?

Options:

1. = ORI
2. = Tolfeasd
3. = @rEm
4. v T

Question Number : 52 Question Id : 54592747522 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

An air conditioner connected to 220V power supply and
current in the circuit is 2A. What is the power consumed?

Options:

1. » 220W
2. » 880W
3. % 110W




4. v 440W

Question Number : 52 Question Id : 54592747522 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tsh UL e 220V erfed 3mfd & Eafeld 3K 9Rar #
2A T faegd arT @ SfsT 81 fohcelr orfebd 3usqsr gldr &7

Options:

1. = 220W
2. = 880W
3. = 110W
4. v 440W

Question Number : 53 Question Id : 54592747523 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following chemical compound is used for
bleaching cotton and linen in textile industry?

Options:

1. = Sodium hydroxide

2. » Calcium chloride

3. v Calcium hypochlorite
4. = Sodium carbonate

Question Number : 53 Question Id : 54592747523 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IET 3SR H ol 3R Toletel adl & folae & Qv faefaiad
A O g gaafas i s 3o har Sar &7

Options:
1. = TISIH SEIFASS
2. % hicRIH FaANISS

3. v hicRTH FBUIFaNSS




4. = Q2R FEfac

Question Number : 54 Question Id : 54592747524 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

What is the least distance of distinct vision in case of human
with normal vision?

Options:

1. = 10 cm
2.v 25 cm
3. % 50 cm
4, = 45 cm

Question Number : 54 Question Id : 54592747524 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

rdT OTATET IS¢ aTel ATeld & ATH ﬁ»{jj{—quc zeter &
eUdH T T gar &7

Options:

1. = 10 ¥.7.
2. v 25 A
3. = 50 @A
4. = 45 @A

Question Number : 55 Question Id : 54592747525 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which acid is used in the process of anodising of aluminium
utensils to prevent them from corrosion?

Options:

1. = Dilute Hydrochloric acid

2. = Concentrated Nitric acid

3. = Concentrated Sulphric acid
4. v Dilute Sulphuric acid



Question Number : 55 Question Id : 54592747525 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UelfATH & adell F ST & g F AT UAISISRIOT hr
ufshar # T & T 3T T J1aT §7

Options:
1. = de ETEZIFeleh 3TFe

2. = g TSl 3Fdl

3. * ¥Ig eI 3]

4. v del eI 3+l
D o,

Question Number : 56 Question Id : 54592747526 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rabi crops are associated with which season?

Options:

1. v Winter Season
2. = Rainy Season

3. ® Summer Season
4. = Autumn Season

Question Number : 56 Question Id : 54592747526 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl T e R ®d @ @afad g7

‘I.Ji’ﬁc_-ff’lt_qu'
2. = g HJ
3. » UTSH BT
4. * NG Hg

Question Number : 57 Question Id : 54592747527 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which Indian river is known as ‘Jamuna’ in Bangladesh?

Options:

1. * Yamuna

2. v Brahmaputra
3. = Ganga

4. » Mahanadi

Question Number : 57 Question Id : 54592747527 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

ﬁmﬂnﬁwaﬁraﬁaﬁﬂﬁerﬁ‘a@m’kmﬁmw ST
&7

Options:

1. = JHAT
0

2. v SEHAIA

3. % I[N

4. » FETaTET

Question Number : 58 Question Id : 54592747528 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Bays’ and ‘Gulfs’ are associated with which of the following?

Options:

1. = Marshes
2. % Rivers

3. v Oceans
4. = Ponds

Question Number : 58 Question Id : 54592747528 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TET (&) 3N TR eareiEd # 8§ g O garad &7

Options:

1. = Gelgel



2. % odar
3. v HSMER
4. = grems

Question Number : 59 Question Id : 54592747529 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which crop requires high temperature, light rainfall, two
hundred and ten frost-free days and bright sunshine for its
growth?

Options:

1. = Wheat
2. » Paddy
3. v Cotton
4. = Tea

Question Number : 59 Question Id : 54592747529 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forE wOa Y 3T AT & T 3T dT9HATE, &eenl gul, ar
Ht oW d& W HeFd feoT (Whiee W) 3R deT U HT TRl

grelr &7

Options:

1. = g

2. % Ylal

3. v hUE
4., = A

Question Number : 60 Question Id : 54592747530 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following can cause soil erosion?

I - Deforestation
IT - Over Grazing
III - Wind

Options:

1.+ 1,1l and III

2. % Only I

3. = Both IT and III
4. = Both I and II

Question Number : 60 Question Id : 54592747530 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafof@d # & a1 e 319TEeT T FRUT & Hehall &7

| - ddlcHld
O,

I - 3fT W2

Il - 9daT

Options:

1. v I, 11 3 1
2. % hgel |

3. = grar Il 37T I
4, « gyl | 3 |l

General Awareness2

Group Number : 4
Group Id: 5459272354
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awareness?

Section Id : 5459272354

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459272824
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54592747531 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following factor(s) affect/s rural settlement in
India?

I - Climate
IT - Ethnicity
I1I - Community

Options:

1. = II and III

2. = T only
3.vI,IIand III
4. = III only

Question Number : 61 Question Id : 54592747531 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AFATATET FRT H O hieT T FRE AT & TTHTOT
Aaferdelleor (@eade) T wHIad FIdr &7

| - STeldg
0

| - sfer
Il - &HE

Options:

1. = 1l 30T 1l
2. = ohadl |
3. v |, 1, 3T
4. = ke |l

Question Number : 62 Question Id : 54592747532 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Swadeshi Movement started after which of the following
events?

Options:

1. v Partition of Bengal

2. » Revolt of 1857

3. » INA Mutiny

4. = Jalllanwala Bagh Massacre

Question Number : 62 Question Id : 54592747532 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TacelT sfelere farafelf@d # @ fhy gear & a8 4% g3 oT?

Options:

1. v ST T THTSTT
2. % 1857 Wﬁ?ﬁl’e’-’



3. # .UV Hfeal ()

4, = SATIETT 9T d{HER

Question Number : 63 Question Id : 54592747533 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mahatma Gandhi was NOT associated with which of the
following?

Options:

1. = Kheda Satyagraha

2. * Non-Cooperation Movement
3. » Quit India Movement

4. » Santhal Rebellion

Question Number : 63 Question Id : 54592747533 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FETcAT el feafelf@a & & o & qafdaT a@r a7

1. » 3T IS

2. % 3THEINIT 3TETelel
3. = Hd BIST HAaleld
4. v I ESEE

Question Number : 64 Question Id : 54592747534 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which Indian philosopher is famously known for his address
in 1893 at the Chicago Conference of World Religions?

Options:

1. = Ishwar Chandra Vidyasagar
2. » Raja Rammohan Roy

3. » Ramakrishna Paramhansa
4. v Swami Vivekananda



Question Number : 64 Question Id : 54592747534 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forg docaaTal Y 1893 & fgeg gAT & fAwEN gEAdT A
3ok Erde & olT SATeT S1ar §7

Options:
1. % eauEg [AEImEmR

2. = IToll TAAIGT T3

3. » THAFSUT TWAGH
4. v TaTHAT G+l

Question Number : 65 Question Id : 54592747535 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following Acts allowed Christian missionaries to
travel to India and spread western religious ideas?

Options:

1. = Regulating Act of 1773

2. #» Indian Councils Act 1909

3. v Charter Act of 1813

4. = Government of India Act 1935

Question Number : 65 Question Id : 54592747535 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

et & & R sfRfae 3 SeaRal 31 sma s qn
afeasr enfiie Ramt #1 o & seAfy 4

Options:

1. = 1773 1 Afeaad@e fafagd

2. » 9RAR TRve HRABRA 1909
3. v 1813 T T 3TTATaTH

4, = AT SRR Tfafagd 1935




Question Number : 66 Question Id : 54592747536 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Ashvamedha’ and ‘Rajasuya’ in Vedic religion are types of

Options:

1. v Sacrifices

2. » Hymns

3. = Musical instruments
4. = Royal orders

Question Number : 66 Question Id : 54592747536 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afeer gaf # '3regAy '3 T + UL B

Options:
1. v FTelalal
2. ® ol

Question Number : 67 Question Id : 54592747537 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The system of assignment of revenue of a particular territory
to the nobles for their services to the state during Muslim
period was known as system.

Options:

1. = Faujdari
2. = Jizya
3. v Jagirdari
4. = Amir

Question Number : 67 Question Id : 54592747537 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



HIECTHA Tl & NIl s hi 3eTehl Farsit & foIv AT T Teh
Ty &7 & Toreg di9el I YUTTell T HUTTeIT o olld

& ST ST 2T

Options:

Question Number : 68 Question Id : 54592747538 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who has been appointed as the ambassador of ‘Swasth
Immunised India’ campaign in February 2019?

Options:

1. = Dia Mirza

2. v Kareena Kapoor Khan
3. » Kajol

4. = Deepika Padukone

Question Number : 68 Question Id : 54592747538 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEdT 2019 H h8 Foed-g8gases-318aT 3TTHATe & Jsigd
® T A Tagerd foram 3 &7

Options:

2. v FIAT FYL Fe

3. % ShRTollel
% QITUshT TTghTOT




Question Number : 69 Question Id : 54592747539 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In June 2019 who has been selected for Danny Kaye
humanitarian award by UNICEF?

Options:

1. = Dia Mirza

2. = Lara Dutta

3. = Sushmita Sen

4. v Priyanka Chopra

Question Number : 69 Question Id : 54592747539 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST 2019 # FfA™ S@NT 86T &% AladmEaEl TERR & foau
fore <@ arar?

Options:

1. = &rr T
2. % oI Gl
3. = geadr d
4. v TOger TgsT

Question Number : 70 Question Id : 54592747540 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Equator Prize is given by which of the following organization?

Options:

1. = UNEP
2. v UNDP
3. = UNICEF
4. » WHO

Question Number : 70 Question Id : 54592747540 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

sy TR farafoli@d 7 & o e 2giT fear e &7




Options:

1. = JUazd
2. v gr.w?r.:%’r.tﬁ
3. % 'g?rﬁﬁqs

4. = sw-&.lﬁuu.ai’r

Question Number : 71 Question Id : 54592747541 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who won Women’s Prize for Fiction 2019 for her book “An
American Marriage”?

Options:

1. v Tayari Jones
2. » Anna Burns
3. = Pat Barker
4. = Helen Rogers

Question Number : 71 Question Id : 54592747541 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2019 &7 gA-H YIgsl ®BR TheFeled qLEFR 3Tl TEdh "Ud

AT AN & Tolv fohga Siar?

Options:
1. v AT AT
* TaT Sl

2.
3. = U IIhT
4. = golel JoTd

Question Number : 72 Question Id : 54592747542 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who has been awarded Mexico’s Highest Civilian Honour —
‘Order of the Aztec Eagle’ on 1st June 2019?

Options:



1. = Sushma Swaraj
2. » Hamid Ansari
3. = Arun Jaitley

4. v Pratibha Patil

Question Number : 72 Question Id : 54592747542 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1 ST 2019 I AR T Hafed HFATS - '3TST 3H
TUeceh Sarel ford feam amam &7

Options:

1. » UAT TS
2. = BIAG 3ANRT
3. = 3T8UT Sicel
4, v gicer gifce

Question Number : 73 Question Id : 54592747543 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who won Nine Dots Prize 20197

Options:

1. = Tayari Jones

2. v Annie Zaidi
3. = Anna Burns
4. = Pat Barker

Question Number : 73 Question Id : 54592747543 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2019 T A3 5Ted WERR Tohyel Siar?

Options:

1. % TRAT Ao
2. v Qal JAdr




3. % Tall §a8

4, = YT STRT

Question Number : 74 Question Id : 54592747544 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many subjects were transferred from State list to
Concurrent list by 42nd Amendment Act of 19767

Options:

1. % 2
2.% 3
3.v5
4, « 4

Question Number : 74 Question Id : 54592747544 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1976 & 42 7 FIe AATHAIH g’y Tsd AT & FAIAT FaT
H fordal oWy FUreiand o arg?

Options:

1. = 2
2. % 3
3. v 5
4. = 4

Question Number : 75 Question Id : 54592747545 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which Schedule of the Indian Constitution deals with the
allocation of seats in council of states?

Options:

1. = II
2. = III



3.vIV
4 % X

Question Number : 75 Question Id : 54592747545 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T & AiauTel 1 kil A e H T AT & TATA FT
Mded T /=T &7

Options:

1. = |l
2. = |l
3. v IV
4. = X

Question Number : 76 Question Id : 54592747546 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who appoints the Attorney General of India?

Options:

1. = Prime Minister

2. v President

3. = Governor

4, = Chief Justice of India

Question Number : 76 Question Id : 54592747546 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR F Agredrarer H7 fagfFa sl wwar &2

Options:

1. = TTel HAT
2.JTI'€CI%

3. = {ogddrel

4, = IRT & AT AT



Question Number : 77 Question Id : 54592747547 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Articles 5 to 11 of Indian Constitution deals with which of the
following?

Options:

1. v Citizenship

2. * Fundamental Duties

3. = Directive Principles of State Policy
4. * Fundamental Rights

Question Number : 77 Question Id : 54592747547 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT Fiaeme & 3ffese 5 § 11 feafafaa 7 @ fre

1. v TR

2. = HAifelh Faed

3. % T & Al fogerk daa
4. = Hiferr YRR

Question Number : 78 Question Id : 54592747548 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Vijender Singh won his first professional fight in US circuit.
This win was his consecutive victory.

Options:

1. = 10th
2. = 12th
3. v 11th
4. = 9th

Question Number : 78 Question Id : 54592747548 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

[deiad g o Jud Fiere H 3Tell Tgell U oS5 STl I8
ST 3eTehl RN CIGE

Options:

1. = 10 &f
2. % 12 &Y
3. v 11 @F
4, = 9 A

Question Number : 79 Question Id : 54592747549 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Name of the first interactive game show launched by
Facebook is

Options:

1. = “Gamer’s Zone”
2. = “Let’s Play”

3. * “Bonanza”

4. v “Confetti”

Question Number : 79 Question Id : 54592747549 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e ZaRT UF FhU a0 Ugel gelfded 3IH o T ATH
gl

Options:

1.« it S
2. = "olgH Tal
3. = "SATSIT"

4, v "Hlehel

Question Number : 80 Question Id : 54592747550 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Which Indian boxer became the first gold medalist in
Kazakhstan President’s Cup 20197

Options:

1. = Duryodhan Singh Negi
2. = Zakir Safiullin

3. v Shiva Thapa

4. = Vikas Krishan Yadav

Question Number : 80 Question Id : 54592747550 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FollehEdlel USiISE FT 2019 A Fi AT AT HFchalsl Tgell
TIUT gk [doidl §ar?

Options:

1.&@%%@7%
2. = SATTerY Hith3Telel
3. v Tear g

4. » O FTUT ITed

Arithmetic Ability1
Group Number : 5
Group Id: 5459272355
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



Arithmetic Ability1

Section Id : 5459272355

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 5459272825
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54592747551 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

16-[2+8—(8+16x3)] _
20+10%2 |

What is the value of

Options:

1. = 0.5

2. % 0.30
3. v 0.25
4. % 0.75

Question Number : 81 Question Id : 54592747551 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

16 —[2+8—(8+16%8)]
20+10%2

F AT F4T 57

Options:

1. = 0.5

2. = 0.30
3. v 0.25
4. = 0.75

Question Number : 82 Question Id : 54592747552 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Least Common Multiple of two numbers is 18 and Highest
Common Factor is 2. If one of the number is 4, then what is
the other number?

Options:

1. %4
2.% 8
3.v9
4 %6

Question Number : 82 Question Id : 54592747552 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& AT HT THeaH FATGH 18 & TUT HAgedH FATIATH 2

gl afq ek |EAr 4 §, ar gEdl §ar w7

Options:

1. = 4
2. % 8
3. v 9
4. = 6

Question Number : 83 Question Id : 54592747553 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T Top P S (RS, (5 S P
What is the value of il & 0 ?

8

Options:

1. 8
2. % 2
3.v4
4 %6



Question Number : 83 Question Id : 54592747553 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

[3 1]2 (3 1]2
ST R (e e
. : 4 6 &I AT =T 87

8

Options:

1. = &
2. % 2
3. v 4
4. = 6

Question Number : 84 Question Id : 54592747554 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

| F 8 g 9
What is the value of | —+—+—| —| =+1+— |5
15 5 5 3 75 /°

Options:

1. = 1038/225
2.v1042/225
3. % 1038/223
4. = 1042/223

Question Number : 84 Question Id : 54592747554 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2
3 . .3 1
Bd I b 3 & AT T §7?
15 3 3 3 75

Options:

1. = 1038/225
2. v 1042/225
3. = 1038/223



4. = 1042/223

Question Number : 85 Question Id : 54592747555 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ratio of three numbers is 3 : 4 : 6 and their Highest
Common Factor is 115. What is the sum of these numbers?

Options:

1. = 1035
2. % 1265
3. v 1495
4. % 1725

Question Number : 85 Question Id : 54592747555 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

citel TEATHT T 37T 3 : 4 : 6 § TUT 3Tl HEcAA
TATITeR 115 §1 ST GEIAT3T T AWT FAT &7

Options:

1. = 1035
2. % 1265
3. v 1495
4. = 1725

Question Number : 86 Question Id : 54592747556 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

If 3Y1Y3Y is divisible by 44, then what is the value of Y?

Options:

1. % 2
2. %4
3.v0
4, % 8



Question Number : 86 Question Id : 54592747556 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

JfT 3Y1YIY, 44 T TATST &, a7 Y T HTT FAT &7

Options:

1. = 2
2. % 4
3. v 6
4. = 8

Question Number : 87 Question Id : 54592747557 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If 978A28B is divisible by 72, then what is the value of (A + B)?

Options:

1.+11
2.% 0
3. %4
4. %7

Question Number : 87 Question Id : 54592747557 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ife 978A28B, 72 & [O=T &, a@r (A + B) T HIT FIT &7

Options:

1. ¢ 11
2. 6
3. = 4
4. = 7

Question Number : 88 Question Id : 54592747558 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is that least perfect square which is exactly divisible by
each of 21, 66 and 88?



Options:

1.~ 853776
2. % 882978
3. = 9821606
4. % 789120

Question Number : 88 Question Id : 54592747558 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

98 et H qUT g9 &A1 § S 21, 66 dUT 88 H & Wcdeh d
EUGHAGE 2

Options:

1. v 853776
2. = 882978
3. = 982166
4. = 789120

Question Number : 89 Question Id : 54592747559 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ratio of two numbers is 5 : 4 and their Least Common
Multiple is 240. What are these two numbers?

Options:

1. v 60 and 48
2. » 40 and 60
3. = 20 and 40
4. = 28 and 90

Question Number : 89 Question Id : 54592747559 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o TEAT3T HT U 5 @ 4 & TAT STl ofHecdd FATIAA
240 &1 Ig a7 &IV FAT 87

Options:




v B0 TaT 48
x 40 A7 60
20 2T 40
x 28 T4t 90

ol
#®

Question Number : 90 Question Id : 54592747560 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the sum of two numbers 1s 30 and the difference between
them is 1/5 of their sum, then what is the Least Common
Multiple of these numbers?

Options:

1.~ 36
2. % 30
3.% 34
4, % 25

Question Number : 90 Question Id : 54592747560 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATe & AT T AT 30 § AT Soloh ST I 37T Soleh AT
T 1/5 &, A Fo TEAI FT FEcdH TAITT FAT &7

Options:

1. v 36
2. = 30
3. = 34
4. = 25

Question Number : 91 Question Id : 54592747561 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Average welght of 12 students is 56 kg. After including a new
student in that group the average weight rises by 2 kg. What
is the weight of the new student?

Options:

1. = 72 kg
2. % T8 kg
3.v82kg
4. % 84 kg

Question Number : 91 Question Id : 54592747561 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

12 Toeamtdat &1 3|d 9K 56 fR.am. &1 39 §Hg H U o7
faaamedf =1 enfAer et @ 3ifad ¥R 2 fram @ ¢ Srar g
o0 ol =1 9 =T &7

Options:

1. = 72 Th.am.
2. = 78 fRam.
3. v 82 f&h.am.
4. = 84 TR,

Question Number : 92 Question Id : 54592747562 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a group of 18 men, two men whose average age 1s 58 years
are replaced by two new men. If the average age of the group
decreases by 2 years, then what is the average age of the two
new men?

Options:

1. = 36 years
2. % 38 years
3. v 40 years



4. % 42 years

Question Number : 92 Question Id : 54592747562 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

18 ToNT & U HAg H, 58 a¥ iad 3y drel ar TE§r F ar
T IEN F sger fear S g1 afe @Ay kr a3y 2 a9 |
A B ST &, aF & @0 qest HT HET g w4 g7

Options:

1. = 36 @Y
2. % 38 Ty
3. v 40 @Y
4. = 42 T§

Question Number : 93 Question Id : 54592747563 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Average of 42 numbers 1s 24. If two numbers 26 and 34 are
removed and four numbers 24, 14, 20 and 6 are added, then
what is the new average?

Options:

1. = 26
2. % 25
3. % 24
4. v 23

Question Number : 93 Question Id : 54592747563 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

42 &I & AEd 24 §1 A g GEAT3t 26 duT 34 &I ger
fear Srar & 3w I g&an3it 24, 14, 20 AT 6 T ST STl
&, dr 47 3fea =1 &7

Options:




1. = 26

2. = 25
3. = 24
4. v 23

Question Number : 94 Question Id : 54592747564 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If 90% of A = 40% of B and B is y/2% of A, then what is the
value of y?

Options:

1. v 450
2. % 400
3. = 420
4. = 460

Question Number : 94 Question Id : 54592747564 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATE A T 90% = B FT 40% TUT B, A &7 y/2% &, ol y &l

HAToT T &7
Options:

1. v 450
2. = 400
3. = 420
4. = 460

Question Number : 95 Question Id : 54592747565 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When a number is successively decreased by 40%, 30% and
25%, then it becomes 28350. What is that number?

Options:



1. = 94000
2. » 100000
3. = 85000
4. v 90000

Question Number : 95 Question Id : 54592747565 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SIS Ueh TEAT ! dhifded 9 8 40%, 30% AT 25% & FH
T STar &, O g8 28350 & ST &1 96T 24T &7

Options:

1. = 94000
2. = 100000
3. = 85000
4. v 90000

Question Number : 96 Question Id : 54592747566 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A number is firstly increased by 400%, then decreased by 50%
and then again decreased by 46%. If the number becomes
4590, then what was the original number?

Options:

1. = 5280
2. v 3400
3. = 4200
4. = 4540

Question Number : 96 Question Id : 54592747566 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Uk TEAT T Uger 400% T ST ST &, T 50% & g2
ST § JUT T SI9RT 46% & "er™T odr &l Iie §&ar 4590
qoT SATAT g, dr aEddeh G&ar 41 47

Options:

1. = 5280
2. v 3400
3. = 4200
4. = 4540

Question Number : 97 Question Id : 54592747567 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The cost price of an article is 80% of its selling price. What is
the profit percentage?

Options:

1. v 25 percent
2. % 20 percent
3. = 30 percent
4. = 15 percent

Question Number : 97 Question Id : 54592747567 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ush GE T HT Hed 3 [AhT Hed FT 80% &I ey gfcrerd

T 87

Options:

1. v 25 gfaerd
2. = 20 gfaera
3. % 30 wfaerd
4. % 15 wierd




Question Number : 98 Question Id : 54592747568 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ratio of cost price of first, second and third articleis 2 : 3 :
5 respectively. A profit of 20% and 10% is earned on first and
second article respectively and a loss of 10% is incurred on
the third article. What is the overall profit / loss percent on
three articles together?

Options:

1. = 3.5 percent, profit
2. = 1 percent, loss

3. v 2 percent, profit
4. = 5 percent, loss

Question Number : 98 Question Id : 54592747568 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEell, GEIT AT Y TE F HT Hed T U HA: 2 ¢
3 : 5 Bl Ugell dUT gET IFq T KA AT AT FAM: 20%
AT 10% & U7 A avg T 10% &1 g1t g% &1 et
TEG3T T AR Fel ATe/ETe fcrerd T g7

Options:

1. = 3.5 ufderd, omr
2. = 1 ufaerd, g
3. v 2 yiaerd, &
4. = 5 ufderq, gfer

Question Number : 99 Question Id : 54592747569 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




The ratio of cost price of first, second and third articleis 4 : 3:
6 respectively and ratio of their selling price is5:6: 8
respectively. The profit earned on first article is 3/5 of the
profit earned on third article. What is the ratio of their
respective profits?

Options:

1.=6:7:4
2.% 3:8:5
3.v6:9:10
4. =9:8:7

Question Number : 99 Question Id : 54592747569 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tgell, GENT AT ARNT a& & ha Hed FT AT FAM: 4
3:6 % JdUT 3T [OhT HeT 3eIOTT FAA: 5 1 6 8 &l
ggoll TET W AT AT oATH aredr TE] T FHAT I oATH
T 3/5 &1 3eTeh ShaART: 13T T TeIdTcd AT §7

Options:

1. = 6:7:4
2. 3:8:95
3. v6:9:10
4. « 9 : 8 :7

Question Number : 100 Question Id : 54592747570 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If (a/2) : (b/3) : (¢/6) =1:2:3, then what is the valueofa:b:c?

Options:

1.«=3:6:2
2. 2:3:4



3.v,1:3:9
4. «4:3:6

Question Number : 100 Question Id : 54592747570 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

I (afl2) : (bf3) : (c¢/BYy=1:2:3% dara:b

w7 87

Options:

1. = 3:6
2. % 2:3
3.v1:3
4. = 4 : 3

oD O A N
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Sub-Section Number: 1
Sub-Section 1d: 5459272826
Question Shuffling Allowed : Yes

Question Number : 101 Question 1d : 54592747571 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If three numbers are in the ratio of 5: 6 : 9 and the sum of
their squares is 568, then what is the difference between the
largest and the smallest number?

Options:

1.4
2.v 8
3. %16
4, % 12

Question Number : 101 Question Id : 54592747571 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ife e T&IT3T A aa_gqldS:B:QHﬂTmaﬁmw
568 &, dI Oad &3 G&AT dAT a8 DIET H&AT o HET hl
AL AT §7

Options:

1. = 4
2. v 8
3. = 16
4. = 12

Question Number : 102 Question Id : 54592747572 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum of money is divided among A and B such that sum of
1/3 of the A’s share and 1/5 of B’s share is Rs. 250. If share of A
and B are in the ratio of 9 : 10 respectively, then what is the
total sum?

Options:



1. = Rs. 800
2. » Rs. 900
3. v Rs. 950
4. = Rs. 860

Question Number : 102 Question Id : 54592747572 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tk T A d9T B & AT 59 YN ¢ Jdr & & A & Bea
FT 1/3 T2T B & BET &1 1/5 7 9T 250 9= &1 I A o
B & &8 T 37U mr:gzm%",a‘r;mrr@rw%?

Options:

1. = 800 9
2. % 900 TU
3. v 950 T9
4. = 860 TUY

Question Number : 103 Question 1d : 54592747573 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The difference between simple interest and compound
interest on a sum for two years at the rate of 10% per annum
is Rs. 150. What 1s the sum?

Options:

1. » Rs. 13000
2. v Rs. 15000
3. ®= Rs. 16000
4. » Rs. 14000

Question Number : 103 Question Id : 54592747573 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T T 9T 10% ufay af Fr 5T T a au & JTIROT 1T
qUT ThgTE AT T 3T 150 9T &1 T aFr g7

Options:

1. = 13000 392
2. v 15000 392
3. » 16000 TUy
4. = 14000 T9F

Question Number : 104 Question Id : 54592747574 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rs. 4000 is kept at the rate of 20% per annum on compound
interest (compounded half yearly). What is the compound
interest after 18 months?

Options:

1. » Rs. 1328
2. % Rs. 1374
3.vRs. 1324
4. % Rs. 1314

Question Number : 104 Question Id : 54592747574 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

4000 TYF HT 20% Wl a¥ $T T § Thgig SISl (TR
ATl W) W & I-T &1 18 Al 918 Tehgig STl FT &7

Options:

1. = 1328 39
2. % 1374 39
3. v 1324 39
4. = 1314 T




Question Number : 105 Question Id : 54592747575 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The compound interest for first 2 year and first 3 years are Rs.
544 and Rs. 868 respectively. What is the rate of interest?

Options:

1. = 10 percent
2. v 12.5 percent
3. = 15 percent
4. = 17.5 percent

Question Number : 105 Question Id : 54592747575 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ugel 2 @Y TUT Ugel 3 Y & ToIv Tehglg ATl aAen 544
TUL AT 868 TUA g1 SITST hl &L AT &7

Options:

1. = 10 wfaera
2. v 12.5 yfcerd
3. % 15 wfaerd
4. = 17.5 ufcera

Question Number : 106 Question Id : 54592747576 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A car travels from P to Q at the speed of 40 km/hr and from Q
to P at the speed of 60 km/hr. What is the average speed of the
car?

Options:

1. = 50 km/hr
2. 52 km/hr
3. v 48 km/hr
4. = 49 km/hr



Question Number : 106 Question Id : 54592747576 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tk aMeT P 8 Q, 40 fordv/mer fr aifa @ gar Q 4 P, 60 .
HAr.faer T afa & TTEAT HIAT &1 BT T ArEd AT =T §?

Options:

1. = 50 fr.Av./aer
2. = 52 feh.#AT./aeT
3. v 48 Tr. A faer
4, = 49 Toh.HT./eeT

Question Number : 107 Question Id : 54592747577 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A train takes 15 seconds to pass a 200 metre long platform
and 20 seconds to pass another 300 metre long platform.
What is the length of the train?

Options:

1. * 120 metre
2. = 150 metre
3. v 100 metre
4. = 180 metre

Question Number : 107 Question Id : 54592747577 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ek IeramaT 200 AIeT olFs ToldWhIH hl U et H 15 dehg
d2T 300 ATeT FF S TolewiA l g el H 20 Hhs oldl gl
YOTIMET shT oldFaTs T §7

Options:

1. = 120 #II
2. = 150 HIET
3. v 100 AleX




4. = 180 HIET

Question Number : 108 Question Id : 54592747578 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

The distance between A and B is 720 km. A train leaves A at 7
am and runs at a speed of 20 m/s. The train stops on the way
for 1 hour 30 minutes. At what time train will reach at B?

Options:

1. v 6:30 PM
2. % 4:00 PM
3. = 5:00 PM
4. % 4:30 PM

Question Number : 108 Question Id : 54592747578 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A TuT B & #eg 7 g 720 TR.AT. §1 U Te@mET A 8 YaTes
7 9T f@srelr & Tur 20 ArA. Fr afa o Tedr &1 TeEmEr I8
ﬁ1ﬁa30ﬁmm«?ﬁﬁliﬂ?ﬂé’r8q¢ﬁmmq§%ﬂﬁ?

Options:

1. v 6 : 30 &
2. = 4:00 3IOZTA
3. » 5:00 3191
4. = 4:30 FUOZTA

Question Number : 109 Question Id : 54592747579 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Raja is 50% more efficient than Ram. If Ram can make a
computer in 30 days, then Raja can make the same computer
in how many days?

Options:

1. = 10 days



2. v 20 days
3. = 25 days
4. = 15 days

Question Number : 109 Question Id : 54592747579 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1T, TH T 50% ST chl-flghi’lel gl I TH U FFegel 30
el # ST Fehall &, T o 38T FFegel ol fohctel ool #

oIl Hhdl &7

Options:

1. = 10 fe=T
2. v 20 fea
3. = 25 T
4. % 15 fea

Question Number : 110 Question Id : 54592747580 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

After working for 12 days, Shikha finds that only 40% of the
work is done. She employs Tina who 1s 60% more efficient
than Shikha. In how many days Tina alone can complete the

whole work?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. 13 days
2. 14 days
3. 8 days

4. 12 days

Question Number : 110 Question 1d : 54592747580 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



12 f&aT &1 %6t & &1, frar o arr fF Shaer 40% 7 g
§31T%’|agamaﬁwﬁa?ﬁ%ﬁmﬁrcmé?wmﬁlmﬁ
60% 318 1 &ar 3fehel 30 F &1 fovdel faa & @1 607

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. 13 fea
2. 14 faa
3. 8 e
4. 12 e

Question Number : 111 Question Id : 54592747581 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Pipes A and B can fill a tank in 20 hours. Pipes B and C can fill
the same tank in 12 hours. Pipes A and € can fill the same
tank in 15 hours. In how many hours can B alone fill the
same tank?

Options:

1. = 20 hours
2. % 25 hours
3. v 30 hours
4. = 40 hours

Question Number : 111 Question Id : 54592747581 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

qsT A d2T B Uk &F &1 20 ¢ & oY §&hd &1 ST B g
C 3T & &7 12 ¢ & ¥ Hehd gl UIIST A Tdar C 347 &
Fr 15 O¢ H T Thd g1 B 37hel 34T &F &I Thdet ¢ A 7
Gehcll &7

Options:




x 20 €
x 25 €
v 30 ¢
x 40 €

ol

Question Number : 112 Question Id : 54592747582 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The lengths of the diagonals of a rhombus are 10 cm and 15
cm respectively. What is the area of the rhombus?

Options:
1. = 150 cm-

7 % 100 cm?

-

75 cms
3. v

4 % 75V2em?

Question Number : 112 Question 1d : 54592747582 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk AT & fauil T oS waAT: 10 QAL 3 15 [
& ar RYARIOT FT A% AT £

Options:

1 x 15092

5 100w



3 o T5EA

4 % 750282

Question Number : 113 Question Id : 54592747583 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The radius of a right circular cone is 14 cm. If the height of
the cone is thrice of its radius, then what is the volume of the
cone?

Options:
1. = 5748 cm’

9 & 9624 cm?
3 8624 cm’

4' . 6237 cm’

Question Number : 113 Question Id : 54592747583 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk o AMelleh <F T fear 14 a4 &) Ifg o hr =S

3GhT FAT T d19 el g, ar %iga T HTIda AT &7
Options:

1« 5748 T.H3




2 x 9624 WA

3. o 8624 WHIS

4w 6287 HAS

Question Number : 114 Question 1d : 54592747584 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the area of a circle inscribed in an equilateral triangle is 264
cm?, then what is the side of the length of the equilateral

triangle?

Options:

1. * 164/7 cm
2. % 24 cm
3. %14 cm
4. v 12+/7 cm

Question Number : 114 Question Id : 54592747584 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afe v THEE el A 3fhd T oo T TR 264
ﬁ.ﬁr.?%,a#ma@ﬁ‘mﬁﬁgmﬁﬁm%w%‘?

Options:

1. = 16+/7 |.H.
2. = 24 A
3. = 14 |9
4. v 127 |.A.

Question Number : 115 Question Id : 54592747585 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The table given below shows the runs scored by a batsman in
6 different matches.

Matches Runs
M1 58
M2 72
M3 36
M4 104
M3 118
M6 19

What is the difference between highest and lowest runs
scored by the batsman?

Options:

1. =74
2. % 60
3. % 85
4. v 99

Question Number : 115 Question 1d : 54592747585 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Al &1 IR JTfelehT U Seelalel ZaRT 6 affied d<m 7 Far
I T&l T T B

=T e
M1 58
M2 72
M3 36
M4 104
M5 118
M6 19

TeolaTel ST Selld 1 FAUH dAT sFAdH Tl & S AT
3T AT 87
Options:

1. = 74
2. = 60
3. = 85
4. v 99

Question Number : 116 Question 1d : 54592747586 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The table given below shows the number of wallets
manufactured by an industry on different days of a week.

Days Number of Wallets
D1 200
D2 230
D3 180
D4 220
D5 225

What is the ratio of total number of wallets manufactured on
all days together to the number of wallets manufactured on
day D47

Options:

1. = 44 : 211
2.v211:44
3.% 216 :43
4. % 43 : 216

Question Number : 116 Question 1d : 54592747586 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



i &1 IR dTfelshT Ueh TodTg & fafdieel fdal 9T Uer 3gTMem
canT fAffa oat T JEar # e §

e gaf Fr gEar
D1 200
D2 230
D3 180
D4 220
D5 225

mﬁﬁﬁﬁw%ﬁﬁﬁéﬁr?m EAT &7 &t D4 A
foaffia oot & g&ar @ 3eTaTe 87

Options:

1. = 44 : 271
2. v 211 : 44
3. = 216 : 43
4. = 43 : 216

Question Number : 117 Question Id : 54592747587 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The table given below shows the marks obtained by a student
in different subjects.

Subjects | Marks
English 90

Science 81
Maths 09
Hindi Q2

The marks obtained in English is how much percentage more
than the marks obtained in science by the student?

Options:

1. = 5 percent

2. » 10 percent

3. v 11.11 percent
4. = 10.1 percent

Question Number : 117 Question Id : 54592747587 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A &5 IR JTfelehT Uk ©1F gaRT [afdles At & e 3feh!
ST gl &1

ICLE) HF
33T 90
ICEIG 81
fog 99
Tg=ar 92

BT SaNT 3Ieil H e 37eh [dATeT & UIe 37ehl & Tohclal
gicrera 3T &7

Options:

1. = 5 ygfderd
2. = 10 gfaera
3. v 11.11 ufdera
4. % 10.1 gfcerd

Question Number : 118 Question Id : 54592747588 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The bar graph given below shows the number of tables
manufactured by a company on different days of a week.
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What are the total number of tables manufactured by the
company on all days together?

Options:

1. = 12000
2. v 14000
3. * 16000
4. = 18000

Question Number : 118 Question Id : 54592747588 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



dArd feIT =T gus ™T U Todig & afded ol # Tsh el
ZdNT TATHT Al T G&AT &I @A B

5000 4600
4000 —
E 4000
ﬁ 000 - o 2500
'ﬁ 2000 4
1000 -
0 1 : :
D1 D2 D3 D4
o=

TefT feall & TACTRT el g@nT ATHT AT hr ol G&ar 74

Options:

1. = 12000
2. v 14000
3. = 16000
4. = 18000

Question Number : 119 Question Id : 54592747589 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The bar graph given below shows the number of students
passed from a university in four consecutive years.
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Year

Number of students passed in year Y4 are what percentage of
number of students passed in year Y17

Options:

1. = 92.47 percent
2. » 9347 percent
3. % 9447 percent
4. v 9547 percent

Question Number : 119 Question Id : 54592747589 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



s = s vz T OR AR an & v Reafaemem @
3cclTol g€ ST T FEIT Y TR &

2500 -
E 2000 { el
& 1500 - 1500 1420
B 1000 |
500 1
0 . ; . .
Y Y2 Y3 Y4
T

aﬁY4ﬁaﬁﬁﬁ§Umﬁa&rmaﬁY1ﬁ3c—cﬁﬁ§U€mﬁ
$r TEar Fr frgar ufaera &7

Options:

1. = 92.47 widera
2. % 93.47 ufadera
3. = 94.47 wfcerd
4. v 95.47 gfaerd

Question Number : 120 Question 1d : 54592747590 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The bar graph given below shows the number of shirts of
different colour in a shop.

350 7 320
30‘} 7 150
250 — 220

200 4 160
1530 1
100 -
A0 A H
ﬂ T T T 1

Red Orange Green  Black

Colour

M urm bvier of shirt

The number of red colour shirts are how much percentage
more than the number of black colour shirts?

Options:

1. v 100 percent
2. % 200 percent
3. = 300 percent
4. = 400 percent

Question Number : 120 Question Id : 54592747590 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



s T 9T 2us T Uk ghie H fAfEie T 1 STl $r
TEIT I 20T &l

350 7 320
E 300 1 250
B 250 1 220
g 200 - 150
= 150
E 100 -
50
U T ] T 1
CICHE- A S
ot

STl T3T hT FHIST hT AT, Flel LT T FATSAT I T&IT &
foraar wfcera 3faes §7

Options:

1. v 100 wfaerd
2. = 200 yfaerd
3. = 300 gfcrera
4, = 400 gfcrera

General Englishi
Group Number : 7
Group Id : 5459272357
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



General Englishil

Section Id : 5459272357

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 5459272827
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 54592747591 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

A book bought.

Options:

1. = will been

2. » have been

3. v has been

4. = could has been

Question Number : 121 Question Id : 54592747591 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

A book bought.

Options:

1. = will been

2. = have been



3. v has been

4. = could has been

Question Number : 122 Question Id : 54592747592 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

I could not the consequences of my actions.

Options:

1. = decide
2. = let go of
3. = suspect
4. v foresee

Question Number : 122 Question Id : 54592747592 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

| could not the consequences of my actions.

Options:

1. = decide
2. % let go of
3. * suspect

4. v foresee

Question Number : 123 Question Id : 54592747593 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

We have played better you joined the team.

Options:

1. v since

2. = for

3. = because
4, % a8

Question Number : 123 Question Id : 54592747593 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

We have played better you |oined the team.

Options:

1. v since

2. = for

3. # because
4.

% 4as

Question Number : 124 Question Id : 54592747594 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

I am not sure it would rain or not.

Options:

1. v whether



2. » weather
3. = will
4. = at all

Question Number : 124 Question Id : 54592747594 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

| am not sure it would rain or not.

Options:

1. v whether
2. % weather
3. = will

4. = at all

Question Number : 125 Question Id : 54592747595 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

She told me shout at my sister.

Options:

1. = to not to

2. v notto

3. = to not

4. % 1o need not

Question Number : 125 Question Id : 54592747595 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

She told me shout at my sister.

Options:

1. = to not to
2. v not to
3. % to not

4. = to need not

Question Number : 126 Question Id : 54592747596 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

We were going to the zoo, but it started raining.

Options:

1. = set about
2. % set to

3. v set on

4. = set for

Question Number : 126 Question Id : 54592747596 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

We were going to the zoo, but It started raining.

Options:



1. = set about
2. = set to
3. v set on
4., = set for

Question Number : 127 Question Id : 54592747597 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the part of the given sentence that has an error in it. If
there 1s no error, choose ‘No error’.

My uncle (1)/ sold his house (2)/ by a millionaire (3)/. No error
(4)

Options:

1. %1
2. % 2
3.v3
4 %4

Question Number : 127 Question Id : 54592747597 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the part of the given sentence that has an error In It.

If there 1s no error, choose ‘No error’.

My uncle (1)/ sold his house (2)/ by a millionaire (3)/. No

error (4)

Options:

1. % 1
2. % 2



3. v 3
4. = 4

Question Number : 128 Question Id : 54592747598 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the part of the given sentence that has an error in it. If
there 1s no error, choose ‘No error’.

We didn’t (1)/ have to go to (2)/ school in Saturdays (3)/. No
error (4)

Options:

1. %1
2. % 2
3.v3
4, %4

Question Number : 128 Question Id : 54592747598 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the part of the given sentence that has an error In It

If there 1s no error, choose ‘No error’.

We didn’t (1)/ have to go to (2)/ school In Saturdays (3)/.
No error (4)

Options:

1. = 1

I

2 2
3. v 3
4 4



Question Number : 129 Question Id : 54592747599 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the part of the given sentence that has an error in it. If
there 1s no error, choose ‘No error’.

We rejoiced (1)/ at them winning (2)/ the match (3)/. No error
(4)

Options:

1. =1
2.v 2
3.3
4, %4

Question Number : 129 Question Id : 54592747599 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the part of the given sentence that has an error In It

If there 1s no error, choose ‘No error’.

We rejoiced (1)/ at them winning (2)/ the match (3)/. No

error (4)

Options:

1. % 1
2. v 2
3. % 3
4. % 4

Question Number : 130 Question Id : 54592747600 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose an idiom which means:

To achieve two tasks in one attempt

Options:

1. v To kill two birds with one stone
2. » To put all eggs in one basket

3. * None of your business

4. = To take the cake

Question Number : 130 Question Id : 54592747600 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose an 1diom which means:

To achieve two tasks In one attempt

Options:

1. v To kill two birds with one stone
2. = To put all eggs in one basket

3. = None of your business
4.

x To take the cake

Question Number : 131 Question Id : 54592747601 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that can substitute the given sentence.

A person having a sophisticated charm

Options:

1. v Debonair
2. = Cosmopolitan
3. = Cynosure



4. = Epicure

Question Number : 131 Question Id : 54592747601 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that can substitute the given sentence.

A person having a sophisticated charm

Options:

1. v Debonair

2. = Cosmopolitan
3. = Cynosure

4, = Epicure

Question Number : 132 Question 1d : 54592747602 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that can substitute the given sentence.

A person employed to drive a private or hired car

Options:

1. = Bigot

2. v Chauffeur
3. » Invigilator
4. = Jockey

Question Number : 132 Question Id : 54592747602 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that can substitute the given sentence.

A person employed to drive a private or hired car

Options:



1. = Bigot

2. v Chauffeur
3. = |nvigilator
4. = Jockey

Question Number : 133 Question Id : 54592747603 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that can substitute the given sentence.

An extreme or irrational fear of heights

Options:

1. = Graphophobia
2. = Ergophobia
3. v Acrophobia
4. = Cacophobia

Question Number : 133 Question Id : 54592747603 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Choose the word that can substitute the given sentence.

An extreme or Irrational fear of heights

Options:

1. = Graphophobia
2. = Ergophobia
3. v Acrophobia
4, = Cacophobia

Question Number : 134 Question 1d : 54592747604 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Rearrange the parts of the sentence in correct order.

Psychological flexibility
P: is the key to

(Q: greater happiness

R: and well-being

Options:

1. = PRQ)
2. v POQR
3. = QRP
4. = RQP

Question Number : 134 Question Id : 54592747604 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rearrange the parts of the sentence In correct order.

Psychological flexibility
P: is the key to
QQ: greater happiness

R: and well-being

Options:

1. = PRQ
2. v PQR
3. = QRP
4. = RQP

Question Number : 135 Question Id : 54592747605 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the given question, four words are given out of which one
word is correctly spelt. Choose the correctly spelt word.

Options:

1. v Athlete
2. = Ethlete
3. = Athllete
4. = Athlette

Question Number : 135 Question 1d : 54592747605 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which

one word Is correctly spelt. Choose the correctly spelt word.

Options:

1. v Athlete
2. = Ethlete
3. = Athllete
4. = Athlette

Question Number : 136 Question Id : 54592747606 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose an odd one out:

Options:

1. * courteous
2. v embolden
3. = humble
4. = timid

Question Number : 136 Question Id : 54592747606 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose an odd one out:

Options:



1. = courteous
2. v embolden
3. * humble
4. = timid

Question Number : 137 Question Id : 54592747607 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that means the same as the given word.

ELOQUENCE

Options:

1. v expression
2. * halting

3. » stammering
4. = devil

Question Number : 137 Question Id : 54592747607 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Choose the word that means the same as the given word.

ELOQUENCE

Options:

1. v expression
2. * halting
3. ® stammering

4. = devil

Question Number : 138 Question 1d : 54592747608 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the word that is opposite in meaning to the given
word.

TENACIOUS

Options:

1. = stubborn
2. = dodge
3. v docile
4, = lively

Question Number : 138 Question Id : 54592747608 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that I1s opposite iIn meaning to the given

word.

TENACIOUS

Options:

1. = stubborn
2. = dodge
3. v docile
4. = lively

Question Number : 139 Question Id : 54592747609 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

Ravi likes milk, (is it)?

Options:

1. v doesn’t he



2. » don’t he
3. = will he
4. = No Improvement

Question Number : 139 Question Id : 54592747609 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

Ravi likes milk, (is 1t)?

Options:

1. v doesn’t he
2. = dont he
3. = will he

4. = No Improvement

Question Number : 140 Question Id : 54592747610 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

I wish I (was) a singer.

Options:

1. = had been

2. v Were
3. = shall be
4. » No Improvement

Question Number : 140 Question Id : 54592747610 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Improve the bracketed part of the sentence.

| wish | (was) a singer.

Options:

1. = had been
2. v were

. % shall be

3
4, = No Improvement

Group Number :
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Group Maximum Duration :
Group Minimum Duration :
Show Attended Group?:
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Group Marks:
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Minimum Instruction Time:

Section Id :

Section Number :
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No
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Online
Mandatory
16

16

20

1
5459272828
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Question Number : 141 Question Id : 54592747611 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

(Can I) give you some tea?

Options:

1. = Wil I

2. v Shall I

3. » Qught I

4. » No Improvement

Question Number : 141 Question Id : 54592747611 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

(Can I) give you some tea?

Options:

1. = Will |

2. v Shall |

3. = Ought |

4, = No Improvement

Question Number : 142 Question 1d : 54592747612 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

She loves to

Options:

1. = dancing
2. v dance



3. = danced
4. = dances

Question Number : 142 Question Id : 54592747612 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

She loves to

Options:

1. = dancing
2. v dance
3. = danced

4. = dances

Question Number : 143 Question 1d : 54592747613 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the part of the given sentence that has an error in it. If
there 1s no error, choose ‘No error’.

The man (1) was threw (2)/ stones at the birds (3)/. No error
(4)

Options:

1. =1
2. v 2
3.3
4, %4

Question Number : 143 Question Id : 54592747613 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the part of the given sentence that has an error In It

If there 1s no error, choose ‘No error’.

The man (1)/ was threw (2)/ stones at the birds (3)/. No

error (4)

Options:

1. % 1
2. v 2
3. % 3
4. = 4

Question Number : 144 Question Id : 54592747614 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives,
select the alternative which best expresses the meaning of the
Idiom/Phrase.

A black spot

Options:

1. = To be in someone’s favour
2. v A poor point

3. » Hypocritic at tears

4. = Big things

Question Number : 144 Question Id : 54592747614 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, out of the given four alternatives,
select the alternative which best expresses the meaning of

the Idiom/Phrase.

A black spot

Options:

1. = To be In someone’s favour
2. v A poor point

3. = Hypocritic at tears

4. = Big things

Question Number : 145 Question Id : 54592747615 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rearrange the parts of the sentence in correct order.

Friends are

P: people we love
QQ: time with

R: to spend

Options:

1. = RQP
2. = RPQ)
3. = QRP
4. v PRQ

Question Number : 145 Question Id : 54592747615 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Rearrange the parts of the sentence In correct order.

Friends are
P: people we love
Q: time with
R: to spend

Options:

1. = RQP
2. » RPQ
3. = QRP
4. v PRQ

Question Number : 146 Question 1d : 54592747616 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one
word is correctly spelt. Choose the correctly spelt word.

Options:

1. = Jeneral
2. v General
3. = Generul
4. = Geniral

Question Number : 146 Question Id : 54592747616 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which

one word I1s correctly spelt. Choose the correctly spelt word.

Options:

1. = Jeneral



2. v (General
3. ® (Generul

4. = Geniral

Question Number : 147 Question 1d : 54592747617 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that is opposite in meaning to the given
word.

ACCEPTANCE

Options:

1. = praise
2. v denial
3. = repel

4. = reveal

Question Number : 147 Question 1d : 54592747617 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that I1s opposite in meaning to the given

word.
ACCEPTANCE
Options:

1. = praise

2. v denial

3. # repel

4. = reveal

Question Number : 148 Question Id : 54592747618 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Improve the bracketed part of the sentence.

{That) socks are mine.

Options:

1. = Their
2. v Those
3. » Them
4. = No Improvement

Question Number : 148 Question Id : 54592747618 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

(That) socks are mine.

Options:

1. = Their
2. v Those
3. ¥ Them

4. = No Improvement

Question Number : 149 Question Id : 54592747619 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

I living here for two years.

Options:

1. = am
2. v have been



3. = have
4. = shall been

Question Number : 149 Question Id : 54592747619 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

| living here for two years.

Options:

1. = am
2. v have been
3. = have

4. = shall been

Question Number : 150 Question 1d : 54592747620 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the part of the given sentence that has an error in it. If
there 1s no error, choose ‘No error’.

She will be (1)/ visit us (2)/ the next month (3)/. No error (4)

Options:

1. %1
2.v 2
3.% 3
4. %4

Question Number : 150 Question 1d : 54592747620 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the part of the given sentence that has an error In It
If there 1s no error, choose ‘No error’.
She will be (1) visit us (2)/ the next month (3)/. No error

(4)

Options:

1. % 1
2. v 2
3. % 3
4. % 4

Question Number : 151 Question Id : 54592747621 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose an idiom which means.

To address the true nature of someone

Options:

1. = In cold blood

2. v To call a spade a spade
3. = To bend backwards

4. = No one’s business

Question Number : 151 Question Id : 54592747621 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose an 1diom which means.

To address the true nature of someone

Options:

1. = In cold blood



2. v To call a spade a spade
3. = To bend backwards

4. = No one’s business

Question Number : 152 Question 1d : 54592747622 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rearrange the parts of the sentence in correct order.

The work had been

P: all I wanted to do
(. was get some sleep
R: quite hectic, and

Options:

1. * PRQ
2. v RPQ
3.« QRP
4. » RQP

Question Number : 152 Question Id : 54592747622 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rearrange the parts of the sentence In correct order.

The work had been
P: all | wanted to do
Q: was get some sleep

R: quite hectic, and

Options:

1. = PRQ
2. v RPQ



3. = QRP
4. = RQP

Question Number : 153 Question Id : 54592747623 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one
word is correctly spelt. Choose the correctly spelt word.

Options:

1. = Centire
2. v Centre
3. = Centree
4. = Sentre

Question Number : 153 Question Id : 54592747623 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which

one word Is correctly spelt. Choose the correctly spelt word.

Options:

1. = Centtre
2. v Centre
3. = Centree

4. = Sentre

Question Number : 154 Question Id : 54592747624 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that is similar in meaning to the given word.

ABUNDANT

Options:

1. * meager



2. v copious
3. = scarce
4. = inadequate

Question Number : 154 Question Id : 54592747624 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that 1s similar in meaning to the given

word.

ABUNDANT

Options:

1. = meager
2. v coplous
3. ® scarce

4. = Inadequate

Question Number : 155 Question Id : 54592747625 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

He scoffed (at) the idea of revolt.

Options:

1. = about

2. = for

3. % on

4. v No Improvement

Question Number : 155 Question 1d : 54592747625 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Improve the bracketed part of the sentence.

He scoffed (at) the idea of revolt.

Options:

1. = about
2. = for
3. % 0on

4, v No Improvement

Sub-Section Number: 2
Sub-Section 1d: 5459272829
Question Shuffling Allowed : Yes

Question Id : 54592747626 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the following information carefully and answer the
given questions.

Gender roles are attitudes and behavior that a society expects
from males and females. Society tells what traits each gender
is supposed to follow. Although it is traditionally assumed
that males are the breadwinners and women are the
homemakers, times have changed now.

For years females have been expected to take care of the
family and the males to provide for the family. The family,
the peer group, the school, and the mass media are all
socializing agents in deciding what our gender role should be.
Although taking care of the children has not changed as much
as working, males have begun to help with childcare more
now because females are not at home as often since they are
most likely working. The majority of the younger couples
with children believe that it is more of a joint effort.

Since women were supposed to take care of the family they
never had a chance to further their education by going to
college. Even if a girl did want to go to college she would be
told not to by everyone since it was socially accepted. Today
more females have been attending college than ever before.
Moreover, the thought that politics was a male occupation has
also changed in recent years. Hilary Clinton for instance was
running for president not many years ago. If a woman would
have ran for president several years ago than she most likely
would have received no votes.

Today the scenario has changed and females have equal
rights with men. Females have gained in the workforce and
in politics. Society is starting to become more egalitarian
between males and females. Sexism, which is prejudice and
discrimination based on one’s gender, is coming to an end. If
sexism had not existed in our society then we would have
attained gender equality long ago.



Sub questions

Question Number : 156 Question Id : 54592747627 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the passage who plays a role in deciding what
our gender roles should be?

Options:

1. = The hierarchical system of the society

2. = Doctrines and traditions

3. v Soclalizing agents

4. = Person’s own beliefs and educational background

Question Number : 157 Question Id : 54592747628 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the author trying to convey in the passage?

Options:

1. = That there is a need to educate women so that they can
contribute to the family financially.

2. = A country can only progress if the leader of the country is
awomarn.

3. * That women and men have exchanged roles in modern
times.

4. v That the role of women have changed in the past decades
and now they are coming out as equal to men in every field.

Question Number : 158 Question 1d : 54592747629 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the word ‘egalitarian’ mean in the passage?

Options:

1. = Tyrannical
2. » Communal
3. v Democratic
4. = Social



Question Number : 159 Question 1d : 54592747630 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is a barrier to gender equality?

Options:

1. = Egalitarianism
2. v Sexism

3. = Gender

4. = Tradition

Question Number : 160 Question Id : 54592747631 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Roles of women have changed in which of the fields according
to the author?

Options:

1. v Work, politics and home

2. = Media, tradition, culture and socliety
3. » Home, work, culture and society

4. = Politics, soclety and mass media

Question Id : 54592747626 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the following information carefully and answer the

given questions.

Gender roles are attitudes and behavior that a society
expects from males and females. Society tells what traits
each gender is supposed to follow. Although it Is
traditionally assumed that males are the breadwinners and
women are the homemakers, times have changed now.

For years females have been expected to take care of the
family and the males to provide for the family. The family,
the peer group, the school, and the mass media are all
socializing agents in deciding what our gender role should
be. Although taking care of the children has not changed as
much as working, males have begun to help with childcare
more now because females are not at home as often since
they are most likely working. The majority of the younger
couples with children believe that it is more of a joint effort.
Since women were supposed to take care of the family they
never had a chance to further their education by going to
college. Even if a girl did want to go to college she would
be told not to by everyone since it was socially accepted.
Today more females have been attending college than ever
before. Moreover, the thought that politics was a male
occupation has also changed in recent years. Hilary Clinton
for instance was running for president not many years ago.
If a woman would have ran for president several years ago
than she most likely would have received no votes.

Today the scenario has changed and females have equal
rights with men. Females have gained in the workforce and
In politics. Society is starting to become more egalitarian
between males and females. Sexism, which is prejudice and
discrimination based on one’s gender, is coming to an end.
If sexism had not existed in our society then we would

have attained gender equality long ago.



Sub questions

Question Number : 156 Question Id : 54592747627 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the passage who plays a role in deciding what

our gender roles should be?

Options:

1. = The hierarchical system of the society

2. = Doctrines and traditions

3. v Socializing agents

4, = Person’s own beliefs and educational background

Question Number : 157 Question Id : 54592747628 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What I1s the author trying to convey in the passage?

Options:

1. = That there 1s a need to educate women so that they

can contribute to the family financially.

2. » A country can only progress If the leader of the

country 1S a woman.

3. = That women and men have exchanged roles In

modern times.

4. v That the role of women have changed in the past
decades and now they are coming out as equal to men In

every field.

Question Number : 158 Question Id : 54592747629 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the word ‘egalitarian’ mean In the passage?

Options:



1. = Tyrannical
2. * Communal
3. v Democratic
4.

% Soclal

Question Number : 159 Question Id : 54592747630 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What i1s a barrier to gender equality?

Options:

1. = Egalitarianism
2. v Sexism
3. = Gender
4. = Tradition

Question Number : 160 Question Id : 54592747631 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Roles of women have changed in which of the fields

according to the author?

Options:

1. v Work, politics and home
2. » Media, tradition, culture and society
3. = Home, work, culture and society

4, = Politics, society and mass media

General Hindi1l

Group Number : 9
Group Id: 5459272359
Group Maximum Duration : 0

Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Hindil

Section Id : 5459272359

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459272830
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 54592747632 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e T SIec &l T Taede FATd By

Options:

1. v i + 3fferd
2. % GRY + T
3. % G + 3feRT
4, = Ry +F

Question Number : 161 Question Id : 54592747632 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2w v osg 7 @Y "=ag A9 FIiavl

CINEAR)

Options:



v A + 3ER
» Rl + &
dx + 3R
« aRiETr + I

Question Number : 162 Question 1d : 54592747633 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e T Sec § UL ATT A=yl
LIEEC

Options:

1. =TT
2. v Ud
3. x T
4, =7

ol
#®

Question Number : 162 Question 1d : 54592747633 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faw v orsg A 39GeT AT Fifew]

EIGETC

oy,
Options:

1. =

4

2.
3. =
4,

ﬂﬂﬁ)g

Question Number : 163 Question Id : 54592747634 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



e T Srec § IUMT ATT A=yl
SSAT

Options:

1. % &
2.
3. 9%
4. % &5

Question Number : 163 Question Id : 54592747634 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faw v orsg A 39T AT FIaw]

SSHTA

Options:

1. =

'

2.
3. =
4.

&l/futﬂlfﬂl

Question Number : 164 Question 1d : 54592747635 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fgfelad & & I I T Togel - TGH BT T a1 82

Options:
1.+ 5 - [0
2. % o9 - ol
3. dr-uAd

4. v Tel - [deTeTd

Question Number : 164 Question Id : 54592747635 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



farafal@d & @ &l A1 JIA dET - THA FT JIA 80 87

Options:

1. = J& - <5
= o

2. % ofI& - of&

3. % Ocdrl - 94

4. v T - fdcrer

Question Number : 165 Question 1d : 54592747636 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FMYTelad § T oI 9T I, QATTEd T TTr il IETEL 372

Options:

1. » WY
2. = HST

3. v TIET
4. % T

Question Number : 165 Question 1d : 54592747636 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFaTelRad & & i T ofsc cemarygeh [deIVuT T 3ET&0T &7

Options:

1. » AYT
2. = HIST
3. v TITeT
4. = gepel

Question Number : 166 Question Id : 54592747637 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fow g areaisr & forg 3T gec @ Ta Hifegl

AT T §AT Pl

Options:



1. v SITcHZAT
2. * TIIZAT
3. » TWIaY
4, » GIHIT

Question Number : 166 Question Id : 54592747637 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faT v areTer & folv 3T e T 99 HITav|

T 3T &cAT Flal

Options:
1. v 3MTcAGAT

2. = TAIBHI

3. » T
4. x FEAIO

Question Number : 167 Question 1d : 54592747638 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e T aTardie & TolT 3T Tec, T T By
¥ 98 - afth gt

Options:

Question Number : 167 Question Id : 54592747638 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



2w 1w grerTer & folv 3T og &7 IIe ST

Sad Tger - ofera ar

Options:

1. » galg
2. v FigsuT

-2

3. % 3T
4. = QTFdeITel

Question Number : 168 Question Id : 54592747639 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o7 T SIe &l Tellf SIec ATd iyl

qishd

Options:

1. v Aok
2. % TaTha
3. * kg
4. % TopaT

Question Number : 168 Question 1d : 54592747639 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2w 7w orsg T ANH e AT FIiaw]

aishd

Options:

1. v AR
2. = T[T
3. » TaATRT



4. = TordT

Question Number : 169 Question Id : 54592747640 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

MgTelTEd & & [ e+t @ T DIyl

Options:

Question Number : 169 Question Id : 54592747640 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

%ﬁﬁ@ﬁﬁﬁﬂaaﬁ?ﬁmwﬁﬁm

Options:
2.
3. * HYhcHEHT
4.

Question Number : 170 Question 1d : 54592747641 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MgleliEd #§ & @I 97 26, I [ SIec, T g7

Options:
1. » & - T
2. % I - BIS

3. % 3T - W

4, v dch - HCh

Question Number : 170 Question 1d : 54592747641 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

oIl adT A & hiel HT 9IS JIA JoToeFcl AT

Options:



1. * &g - H
2. = I - WIS
3. % 3T - uid

4. v ICh - ACh

Question Number : 171 Question 1d : 54592747642 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEQ T eTerg # SUGeh €, DT AT hich [¥eh AT hl iet ol

TRHT STITT AT S[RT gTeT Tl

Options:

1. v H AR
2. % TAR
3% TWHY
4, » @I AR

Question Number : 171 Question 1d : 54592747642 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fow I =g A 3YZF e FT T Fleh o EdTeT ST gt
FiferT

IAT I <RI ST gTel T |

Options:

1. v & AR
2. » & AR
3. * WM
4, = H AN

Question Number : 172 Question 1d : 54592747643 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TEQ TQ arer # JUYeh <Tec;, DI AT e [eh TIT Dl Yid DIl
UM AT B &l I g1 & 3l

Options:

1. = 9
2. « Thdl
3. % 3[Tdmarer
4. %SG

Question Number : 172 Question Id : 54592747643 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feU 910 are | SUYFA oee FT T Rk Nebed TAT HT qfc
%Iiﬁlﬂl

erarfaat & S T BlelT T &l

Options:

1. « T

2. v Thdl
3. % 3fidehdrar
4. = g

Question Number : 173 Question Id : 54592747644 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TeU T araraier 3 Tory 3T ¢ a1 I+ eyl

T g1 ATAT TUaT § S/ oie dTelT

Options:

1. v 9@z
2. % ITATATUAT

3.« agT



4, % 9IS

Question Number : 173 Question 1d : 54592747644 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tew 7T grerrel & v 3T esg T Tdd FITv|

Teh &I ATT Uar 8 Sed ofel arell

Options:

1. v FaIeT
2. % 3THTAAET
3. = dgd
4. % HS

Question Number : 174 Question Id : 54592747645 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e T S[ec, T TeielI¥ SIec, ATd Ryl
SoTelTel

Options:

1. v IATsgTATCT

Question Number : 174 Question Id : 54592747645 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

2w v orsg T AT oo AT Fiiavw]

Seaarar

Options:

1. v 3aTegdarer



2. = ofqarar
3. = Jr&THaTer
4. » FiferRardr

Question Number : 175 Question Id : 54592747646 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T Srec, T ATATIT e AT BT

LG

Options:

1. v T8T
2. % Tell
3. % TopdT

4, » Mg

Question Number : 175 Question Id : 54592747646 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2w 10 oreg &7 FATATAT osg 71 Fifaw]

NI

Options:

1. v BT
2.
3. = TR
4.

Question Number : 176 Question 1d : 54592747647 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TEQ TQ aTerd # I UL Bl I Dhleh 1¥eh EYT i it hi Iy
Mer X TIer Ueh ST eleh 31T Ugal

Options:

1. %
2. % @f
3. % T
4. v ¥

Question Number : 176 Question Id : 54592747647 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feT 910 ey A 3T WEeT FT Tl Hileh o FATT HT i
ST

qMIT T T Th =T ol 31Tt|§w?n|

Options:

1. = &
2. % &I
3. = W
4. v H

Question Number : 177 Question Id : 54592747648 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TeT T a1 § T@iTdd YT BT Gg1 dieh ATd hitag]

e = GTET @

Options:
1. = 3T
2. v &l

3. % I



4, = ®H

Question Number : 177 Question 1d : 54592747648 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foT v g A IGIThd HET T el Fh ATd hITT|

PG IECIGIECIE

Options:

1. = 3YUlelel
2. v &dl
3. ® 0T
4, = FH

Question Number : 178 Question Id : 54592747649 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e T S[ec, @l Tl FATd hITTq]
LIRS

Options:

1. = Qim':rfll
2. v el
3. % TqHDIAT

4, » Targteim

Question Number : 178 Question Id : 54592747649 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

faw 77 orsg T ToloT ATT IS0

rawriver

Options:

1.&3‘%@?



2. v ENifeer
3. % dgﬂch'i'&'dl

4. » Tafafelr

Question Number : 179 Question Id : 54592747650 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T Sree, T FTelTT 7 AT Py
&

Options:

Question Number : 179 Question Id : 54592747650 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few v eeg &1 TAITeldT T ATT ISV

ad

Options:

3. v 2ar

4. = RF

Question Number : 180 Question 1d : 54592747651 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



e T S[6c, @l SATA T T ATd Higl
uTaT

Options:

1. * GEIRAT
2. % TITUAT

3. # TTUTcHT
4. v UTIU_T

Question Number : 180 Question Id : 54592747651 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faw v eeg &1 TAIfeldT T ATT ISV

OTdT

Options:

General Hindi?2

Group Number : 10
Group Id: 5459272360
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



General Hindi?

Section Id : 5459272360

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 5459272831
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 54592747652 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T TTQ SATHL T eg | AT e SIFH Pig Fic 3l

H Br8ar d (1)/ 31U 9 @ (2)/ DR FATT (3)/ H1 T § (4)

Options:

1. %1
2. % 2
3.% 3
4.4

Question Number : 181 Question 1d : 54592747652 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feu arv g &1 g8 ARET A9 W SEA Fig AT

H g |/ (1) 39al 9 FT (2)/ FR o= (3)/ W& T&T g (4)

Options:

1. % 1
2. % 2
3. % 3
4.+ 4



Question Number : 182 Question 1d : 54592747653 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mgl # § DI 9T a1 et da1FT T8l g2

Options:

1. » Tg ATTHT SATHT TIPL PATTI

2. % TSI Eha g1 Poil e €T MY

3. v TO&T AT Ui audt & aret dwears|
4, % {IAT ST 31T & ell TS|

Question Number : 182 Question 1d : 54592747653 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ao E&d & @ i IT arT IIof araFy el &7

Options:

1. = T8 3TANGRT STTRY ailepdl |
2.w?n€rmﬁé’rgﬁ?rmgﬂml

3. v TIIET HATCT R dHT # Tl hear3an|
4. % ATAT ST 3T H Tl 5|

Question Number : 183 Question Id : 54592747654 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T a1erd § T@iTche YT T PTel T hITTT]
& ST et 4T

Options:

1. v QUi Yehrel

2. * GIHT-T YdDlel

3. * 31U YDl

4. % ATHH HdPlel

Question Number : 183 Question Id : 54592747654 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



few 90 g A ITIhd HIT T HTdT ATd AT

ool ST TehT 27|
Options:

1.gq=3:‘r345—|7=m3r

2. % HIHATe HcIhTol

3. # 3TqUT #{cTehlel

4. = oo HcIhTel

Question Number : 184 Question Id : 54592747655 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T a1erd &l U SATd hi=igl

31 Mg "ol &l

Options:

1. v IRYSATD T&
2. % GIACTaTed U&T
3. » Tdedidd U&r
4. » qUidTe i T&

Question Number : 184 Question 1d : 54592747655 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foU 910 T F7 987 AT eIV

AT ANGT Teler ol

Options:

1. v 3HSTIdS T&
2. % HIdoIaIgeh T&T

3. % YadeAlder U&l




4. = qUTATGITh &

Question Number : 185 Question Id : 54592747656 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

TeT T arerdr &t g AT DIyl

39 Pl AT 3l

Options:

1. v Migrard®
2. * Yahardd

3. * g9l ®
4. % STEddT gdh

Question Number : 185 Question Id : 54592747656 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fqw arv arer &r gica T Few

38 Hol ST &l

Options:

1. v ATegards

T o

2. % Hehdldeh
3. * HTTATIR

4. = STEIAT b

Question Number : 186 Question 1d : 54592747657 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TeU 1T AT § TGiTchd AT Thd YehR T TEY g AT BTl

Higd Sgd QT @raT gl

Options:

1. = gIA



2. ® AEdH
3. % 3dH
4, v 3T

Question Number : 186 Question Id : 54592747657 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

20T 30 areFg #H IGTTehd 19T ofT UFIT 1 T& & ATd hIToIT|

HlEel Sgc Tl T |

Options:

1. = TIH
2. » HEJH
3. ® 3cdH
4, v e

Question Number : 187 Question Id : 54592747658 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MgTelrad # ¥ DI 9T TI7 [ET BT IGIET g1 g7

Options:

1. * ¥ Dol Eeell ST

2. % W ER IET 4 T 3

3. % BH® I DI GcH DY ol Tl
4. v TH B Teeil ST

Question Number : 187 Question 1d : 54592747658 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafaf@d & @ Sl @7 907 T&T T 3SEL0T o &7

Options:

1. % & el ool ATSIT
2.« AT OT B F T T




3. % &Hol RT HTH TcH HT Tl
4. v JH Fe feeoll ST

Question Number : 188 Question 1d : 54592747659 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MHTeiad Uy #, ICU U I [dded] # 9, 39 Tddmed @ Tdq & Sl e U
T qgTor & 31 ol AYS & & ek BT 3l

T Bt 2

Options:

1. v Tt ST T SR & AT
2. % T Tehe &I

3. * L AH T e gl

4, * I eyl

Question Number : 188 Question Id : 54592747659 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ao @a weeT A, T a7 I) RAeul & @, 3T AFeq &
T R S oU T JAETY & AT FT TIATS FT H kA
LT &l

TIdAT Selal &lall

Options:

1. v TRET ST A1 ST o197 SATeAT |
2.« 7A@ Thq einl
3. * 81 dUF § Hehe BT

4. = TIET ATH|

Question Number : 189 Question Id : 54592747660 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



MEeiEd Uy #, 0T M7 I [Admedl # ¥, 39 [ddeT &7 Id9 B2 ST [dJ
MY JgTa & 1Y Dl 98 €T F <h BT gl

g T ST 31CIH Tl TS

Options:

1. * G o [T g g1 W@l

2. v T gich [UIT <hl UX@ g1 Y Fehd|

3. * FIOT egith U ST el LgaT g

4, * YIUTH 3FST i T I 38T AT ATdT 3l

Question Number : 189 Question Id : 54592747660 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT @&a w2t #, U a7 I’ Aehedl H &, 30 Theq &
T T ST U a0 e & HY FY TIATS T F T
AT &l

Sed AT Sl 37edeh ol &G

Options:

1. * @ & f&aT Fer =18l B

2. v @ oA U T WE FEN HT Tl |
3. * B[OT Shed 3Uail ST Scoldl Il &l
4.

x ORUMH 3THT gld W § TSI ATl ST &

Question Number : 190 Question Id : 54592747661 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FEeiEd Uy #, 0T T I Adeul # ¥, 39 [ddeT &7 Id9 &2 Sl [dJ
MY JgTa & Y Dl Y8 €T F <h BT gl

Y5 qedht o

Options:

1. * G & Tl gt AT



2. v godl eI BT
3. * 19T G TehU 3/sT TR 3ATHT
4, » 30 3T T5EH BT HTH P

Question Number : 190 Question Id : 54592747661 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT g wed H, U a7 I) [Aeheul H &, 39 AFheq &I
Tl hi oif fEU Ia agsml o 379 hl TIATS T T ol
FIAT Bl

HIST gc.cfﬂ olatl

Options:

1. » Tl & Tow ga#r TN
2. v Bodl cgIg Hhld|

3. » AT TR 0 3T IRUmTHE AT
4, = 3Yal 39a 888 T HTH HLAT|

Question Number : 191 Question 1d : 54592747662 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T MY Sec) & THE & [o1T TET GETaR BT o Hitaryl
ol o Telq 3erd gl

Options:

1. * WreT &I gHT

2. % GF @A
3. % ©T & < eI ™T

4. v T Gl

Question Number : 191 Question Id : 54592747662 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



few a0 ersel & THg & AU WA FEE F T FS0

a5a & folv 3ead gl

Options:

1. % SRIeT T &l

2. % Tl Ul
3. = © & TR STolTel
4. v JoEaT TrdaT

Question Number : 192 Question Id : 54592747663 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEQ Y 2rec] h GHg o 1o FgT GEIa dr ag iyl

31U H & el DY DT

Options:

1. v Sl W AT
2. » BIeT 4§ a1 d1q
3. * ST TR g off g gl
4. » FEd Pl TdTch DT GgRT

Question Number : 192 Question 1d : 54592747663 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feu arv ersel & @A + AU WL FEra¥ T =TI FISA0|

Y Fel & 3Malhel KT FIQTEAT|

Options:

1. v 39T 9T odTa]
2. = BT A 31 a1
3. = Sl IS & al sHd el




4.  ZFS I fdeTsh T FENT

Question Number : 193 Question Id : 54592747664 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

TEQ TQ eTerg @ Tl FgT ellentich T ad= ehieh T¥eh AT el it ehioIql

S dleld Tehs ST T IF WX |

Options:

1. v TSI T TS 2T
2. % TR # GIR 9 14T
3. % T[S Me & 1T
4. % HHT L T

Question Number : 193 Question Id : 54592747664 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o a7 g & foIv @@ aeRIerd T I i o T2ATd
Fr gfd Fiow

SIS Sleld TS Sl W 38 W

Options:

1. v G387 9Tl 95 91T

2. % AP H HREN #T 37
3. » 35 AET FT feAT

4. = FAT T AT

Question Number : 194 Question Id : 54592747665 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TeT T arad # Tohg O g & U f6dT ST AT hii=gl

gAY T AL T ga g

Options:



1. %7
2. % 7?
3.v-
4, %,

Question Number : 194 Question Id : 54592747665 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faw a7 arer A Fe BuaE REa 1 3R=er &ar S1eer A
HIeT|

ga‘rmr—rﬁfram’nﬂ’rsmﬁl

Options:
1%
2 ou 7

Question Number : 195 Question Id : 54592747666 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TeT T arad # Tohg O g & U f6dT ST AT hii=gl

T g ToTS di AT 3 3R T T Hf WX B e gem?

Options:

1.+,
2. % ;
3. % |
4, % -

Question Number : 195 Question Id : 54592747666 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



few a0 g A FT R(TA =™Ed &1 39316 har S19em At
HIeT]

o dF qFe Uers HI RIAT & 3R & TAY & 0H w4 Siad
Told?

Options:

1. ¢

2
3. %
4

Sub-Section Number: 2
Sub-Section Id: 5459272832
Question Shuffling Allowed : Yes

Question Id : 54592747667 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

(Question Label : Comprehension



T RIS T T g1 ITRITSr & SR U= Ut Wef 10U M 31 TRIisr &
ETYCin g T4T Ucdd UF § IR [dchodl # & Tgl fdlhot g

YEARTETd g TATT g gl Y&ady enfiepd o &b v § TGT ST gl O
qEARTeTd TAETAAT GRT TEATURT & o1 & Telq gid 31 it [&adierd

ik TaQT U Ehel & AR T dRd gl $O TR [EIhrad |r
gid g, o= 9P GRT AT ST gl o GATSIYAT GEATY HE 30
JEAhTAT TATUT BT gl PO HI gT Gl BT 3597 U Ueh gl gIdT & TEADI
BT GITST TAT &I/ AT BT YHR BT AT T FioryT f e # T@d
ZU Teld-TUid J&Eddrerd Wi HIS[S g1 TEadlerd & oW gl o119 g, 3redTud
I | AT & Tehe UTavTSITelt ST dht T i TUuTyT i orifa ar o I
q&dhl Bl UG F gl gldl 8, 31X SYDT UhAT GATLT g, JEddhTeld| hich
g TP il TEdh GG gl FohdT I ST [Eddh oW g, 373 UTH & T at
qEAhTY hl ARUT el a1 USdl gl AR AT Nd TEAdIerd gid Agy
3d g Agl, U # a5 TEABToAd g, U Tl § SIehT [Hdid 39T gl 39
Hgcd ol eI H Tgd gU 9 [T # hed 31T ST AT T Trier # Y

JETRTETd IATY T4

Sub questions

Question Number : 196 Question Id : 54592747668 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

qEAhTd # T hd @I SATdT g7

Options:

1. % ThelT &

Question Number : 197 Question Id : 54592747669 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

BIAT ch AT chl FoBT Del T BIdiT 82

Options:

1. = U giax



2. % Thel GIopY
3. v X g1 TdhaTel UTgde
4. % T Tg P

Question Number : 198 Question Id : 54592747670 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IO DT [EadTerd dHgl a-1 AMgu?

Options:

1. = sgTH
2. v TIat &
3.« g A
4. % g H

Question Number : 199 Question Id : 54592747671 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SWYh WEATer T SiTden T 32

Options:

1. v J&dPTeld

2. * AT JEARTT

3. % AZY TEAPIeTd

4, » Told - T J&EdhTerd

Question Number : 200 Question Id : 54592747672 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

qEARTETAT i QRUT Bl AT USAT 82

Options:

1. » T&ad U & oI

2. v T Edd U & felq
3. * WGIAT UG & TelT
4, » Tq @A & o7

Question Id : 54592747667 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)




Question Label : Comprehension

Teh ST ST T &1 ST & IR W gl 7 o aw §
| ITCAT T LATTYdF T¢ JTAT Uedsh Yool H IR fdhedl H &
el [dheq |

0

TEIHTeT T8 TAT & ST8T TEdsh Fhd F F FH H TG
ST €1 $5 TEThIed faeaifdar eanT eIl & aTel &
ferw g1 81 foisll qecrshiery safehd faely 31velt $F & 3R
fAfAd T &1 Fo TIHRT Teawrerd T 819 ¢, oeg TR
EART T ST &1 FS TATSHAT FEATT §T 3T TEcIehlerd
TS HIAT &1 F T & T FT 38T T T & 8T &
qETR] T IS TAT ST H ATl FT YA HIAT| oI hr
GIauT T €T H TWS §T ToI-Th qEAPrerg &l Hiofg &
TETRIE & AT & @ &, eI forar ofr At & foRg
TTCTHATRITeT ST T ATl T TAIrT 1 enfa ar T dRT Jecteh!
FT Tl &1 BT &, 3 FHRT URATT FHTYTS &, TEARTT |
g &Y VR kI JEcish T{IE AT Fehdll 3 S TEdh golef
&, 37¢ Uil & TOIU o TERTord HT eROT ofell g1 gscl g1 AN
AgT Toiclel qecTehlord Bl WU 3cfel & w1gl, &l # o
QTR &, U I H A foadid 3771 &1 58F Hecd I
twﬁwﬁgvsﬁﬁ‘eﬂﬁchqa-l 3310 ST O1fge o ama A&

T TETRTOT FelT] ST

Sub questions

Question Number : 196 Question Id : 54592747668 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TETRTR H TFceh hd T&T SITer §7

Options:

1. % el T
2. % 3ohal Y
S.Ja?ﬁ'-ﬁ-raw
4, = el H

Question Number : 197 Question 1d : 54592747669 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

BTN & ATl T Fool e T 8T 87

Options:

1. % O Bl
2. % ol BIRT
3. v &7 IHT TohdTe TghY

4, = g9 I§

Question Number : 198 Question Id : 54592747670 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR KT JEIRTOT Fgl FTallal ATET?

Options:

1. % UEAT H
2. v dmar #
3. % §EN A
4, = ST H

Question Number : 199 Question Id : 54592747671 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S e 1 AT T g7

Options:




v gi'dﬁhlﬁlil

it
® ddAllalen g{-dchloi-l-l

x QTEAT SCREIEE

* ol - TR JEdehlerd

Question Number : 200 Question Id : 54592747672 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

JEARTOIT T TROT e ol U5l §7

Options:

1. * J&deh Uiel & felw
2.@@@@?%’0
3. = @Il Uga & folw
4. = 7T I@a & foIv

ol




